Robonity
Series

LBAS Basic model

MOTOR-LESS SINGLE
AXIS ACTUATOR

Your choice of Motor and Driver System

‘\‘/ Wide selection of payload and speed requirements Wide selection stroke range

: Choice of stroke range from
Motor-less Choice of ball screw leads S0 T e e sty

(Advanced model LGXS only)

)



For a wide range of usage from positioning to conveyance.

Basic model LBAS P134

High Rigidity

W Maximum payload 2 kg to 100 kg
B Maximum speed 133 to 1,333 mm/sec
M Stroke 50to 1,100 mm

Advanced model LGXS P140

LBAS04 LBASO05 LBAS08

. High Precision Accuracy
/

Class C5
LGXS05 LGXS05L LGXS07

High Durability

Clean specification as
a standard feature

LGXS10

W Maximum payload 2 kg to 160 kg
M Maximum speed 300 to 2,400 mm/sec
M Stroke 50 to 1,450 mm

LGXS12 . LGXS16 LGXS20

Adaptable Stroke Maximum speed | Ball screw | Maximum payload "***(or equivalent)
motor

Note 1
LBAS04 50 50 to 800 (50 pitch) 800 12 12 2 P134
400 6 20 5
1333 20 12 3
, 666 10 24 6
Basic LBASO05 100 50 to 800 (50 pitch) 5 . o - P136
model
133 2 45 15
1200 20 40 8
LBAS08 200 50 to 1100 (50 pitch) 600 10 80 20 P138
300 5 100 30
1333 20 5 2
LGXS05 50 50 to 800 (50 pitch) 666 10 8 4 P140
333 5 13 8
1333 20 12 3
LGXS05L 100 50 to 800 (50 pitch) 666 10 24 6 P141
333 5 32 12
1800 30 10 2
_ 1200 20 25 4
LGXS07 100 50 to 1100 (50 pitch) P142
600 10 45 8
300 5 85 16
1800 30 25 4
e LGXS10 200 100 to 1250 (50 pitch) 1200 20 40 8 P143
model 600 10 80 20
300 5 100 30
1800 30 35 8
, 1200 20 50 15
LGXS12 400 100 to 1250 (50 pitch) P144
600 10 95 25
300 5 15 45
2400 40 45 12
LGXS16 750 100 to 1450 (50 pitch) 1200 20 95 28 P145
600 10 130 55
2400 40 65 15
LGXS20 750 100 to 1450 (50 pitch) 1200 20 130 35 P146
600 10 160 65

Note 1.When a moving distance is short and depending on an operation condition, it may not reach the maximum speed.
Note 2. The rated thrust and maximum transferable weight are values assuming the attached motor outputs the rated torque.

17 N



18

RObOI’]ity Product Lineup

Basic model LBAS

Newly designed integrated guide rail/frame structure.
Improved moment load capacity in compact frame size.
Designed to accommodate motors from most leading manufacturers.

POINT 1 POINT 2

High Rigidity High Precision

Moment rigidity is increased approximately three times from current models. Straightness (running parallelism):

@ ®

i Tt T existi duct
XIS ln.?eiro (V[ LBASO5 XIS ||']I-QQE|TO uc LBASOS

+/-0.02/800 mm

My 35 59 My 86 221

MP 40 63 MP 133 309

MR 50 103 MR 117 343
(N-m) (N-m)

POINT 3 POINT 4

Compact Motor attaching direction, Easily changeable with the

Frame width is reduced by special bending part
approximately 20% from

current models

Straight type Bending type %

POINT 5 POINT 6

Installation process is simple and easy Easy Maintenance
1. Mounting holes are accessible from top or bottom without disassembling actuator Moving parts can be lubricated from
unit. outside without opening actuator

2. Standard surface on the side and dowel pin holes on the bottom.

‘ 54

Standard 2674003 27
surface Sk RN

Grease nipple on the slider side surface



Advanced model LGXS

Higher efficiency, accuracy, and reliability from ground ball screw.
Ideal for base axis of multi-axis configuration.

POINT 1 POINT 2

Shortest Overall Length High Precision
» Adopted ground ball screws
Ball screw Remove Accuracy: Accuracy class C5
» Positioning Remove Accuracy repeatability: +/-5 pm

The industry’ s shortest class is achieved for the total length in
relation to the effective stroke.

LM guide
Ball retainers

Ground ball screws
Accuracy to JIS C5

POINT 3

Cleanroom Ready Design

* Protective stainless dust shield Stainless steel dust shield
* Ports are ready for vacuum fittings

M Simply attach vacuum fitting

Cleanroom roller mechanism .-

Vacuum ports P =

POINT 4

Motor orientation is changeable with optional conversion unit
Motor unit of standard straight type can be used for side-mount setup.

Standard =+ Conversion adapter P Right attachment of bending

10 I



MOTOR-LESS SINGLE AXIS ACTUATOR

Robonity

SERIES

CONTENTS

Basic model

Advanced model

Main functions » P16



LBAS04

@ Motor-less Single Axis Actuator

ng method

LBASO4 N - [Caution]

This system is provided as mechanical actuator unit and not including any

| Model [ Lead designation Shape Motor specification [ adopters or electric components. Motor, driver and other components required for
12: 12 mm 'S: Straight Y: Y specification (see below)| |50 to 800 installation are user's reSP{mS'b'm)f- .
6: 6 mm |A:Bending | |P: P specification (see below) | |(50 mm pitch) Refer to user's manual for installation details. Refer to your motor manual for

tuning or adjustment. Vibration or resonance from actuator will affect service life of
actuator.

The product performance may not be satisfied depending on the compatible motor.
For special parts for motor installation, install and adjust on your side.

M Specifications H Allowable overhang \°t¢ M Adaptable Servo Motor

=~
[=)
=3
=)
=]
—-
~<

Adaptable motor 50 W A ... |Flange size | []40
Repeatability +-0.01 mm Specification - tiage | 50W
Deceleration Shifting position ball screw ¢ 10 B N
hani (o] A c Note. Motor models marked with *
mech (C7 class) B c A b SOW b b
Stroke 50 mm to 800 mm (50 mm pitch) inr:gaﬂg; e S0W, but can be
Maximum speedNte2 LBAS04-12 i
H 800 mm/sec 400 mm/sec Motor 1. .
(BorquulvaITntL 12 6 Horizontal installation (unitmm) Wall installation  (unit: mm) Vertical i ion (Unit: mm) pecificati r Model
a .screw ea mm mm A B C A B C A [ Yasukawa |SGMJV-A5
"‘,":;‘Ig:gfpm Horizontal 12 kg 20 kg 2kg| 1187] 271| 325 2kg| 325 271| 1187 1kg| 534| 534 E'gfp‘”c SGM7J-A5
(or equivalent) | Vertical 2kg 5kg 8kg| 473 62| 77 8kg 77 62| 473 2kg| 265 265 Keyence |SV-[1005
Rated thrust "t3 12kg| 431 41 53  12kg| 53] 41| 431 Corp. SV2-[]005
(or equivalent) 7N 41N Mitsubishi |HF-KP053
Maximum dimensions of N Electric HG-KR053
cross section of main unit W44 mm x H 52 mm LB{\SM 6 . ) . . ) o . ’ Corp. HK-KT053
Overall length ST + 214 mm Horizontal installation (unit:mm) Wall installation  (Unit: mm) Vertical (Unit: mm) o RBBM-K05030
mron -
Using ambient 0to 40 °C, 35 to 80 %RH L L __© AN ST G A ]G Electronics |R88M-1M05030
temperature and humidity (non-condensing) 4kg| 1808| 155/ 217 4kg| 217 155| 1808 1kg| 639| 639 Sanyo R2[JA04005
Note 1. Positioning repeatability in one direction. 12kg| 801 47] 65  12kg| 60| 42| 756 3kg| 208 208 Y %7
Note 2. When a moving distance is short and depending 20kg| 546 25 35  20kg 35 25| 546 Skg| 122] 122 Seiki * TSM3102
on an operation condition, it may not reach the Delta
maximum speed. ) . Note. Distance from center of slider top to center of gravity of object being carried at Electronics |ECMA-C1040F
Note 3. The rated thrust and maximum transferable weight a guide service life of 10,000 km. Fanuc Corp.| 3150.2/5000
tahr: ;I;E(ﬁoar:i:r.mng the attached motor outputs Note. Service life is calculated for 500 mm stroke models. Siomone | 1FK2102-0AG
Note. See P.624 for acceleration/deceleration and inertia 1FL6022-2AF
moment. Schneider |BCH2MBA53
Beckhoff  |AM3011B *
. . Allen- *
H Static loading moment Bradley | 1LY-A120
p Panasonic |[MSMDSA
(Unit: N-m) Corp. MSMF5A
My [ WP | MR
54 54 75
( . N\
LBASO04 Straight type (S)
La
S 134 Effective stroke (80)
| l 25 (Note 1)
i 5 ‘ X s (Lo), 57
| el | . L79(Note 1) W 328 P
. Pcp — H > 40 @289 = So| wm| @
BT | 2 [T |85F g
1 H |§ D ' s T 2 ) I - ‘
| G i & 3.5
i N | e =3 — T & J
: 4-M3x0.5 Depth 10 5 Jﬁ = ,rJ 2 =
| | Detailed drawing C Detailed drawing D
: Motor [P] type : 2-M2x0.4 Depth 6 4-M4x0.7 Depth 9.5
Lo _ (same for opposing side) 2-¢3H7 (*3°°) Depth 4.5
S Greasing hole (Note 4) (426)
p A—= 58.5 (90) 40
-C.D, 4% F .\'\ 4 o b 29.3
\ % LD.I ! T = T e
=, < 7| ]l
A%‘ w [ = © m © ©
4-M4x0.7 Depth 10 mr WD L lee
Motor [Y] type Grounding terminal (M4)
(same for opposing side) Qa-M4x0.7 Depth 10 $3.4 through from rear surface (See cross-section B-B) .
89 Qbx100 3
25) e (45 table knock hole position) 5 & Reference surface
1163557 | 88 - &
14 =|5° s s
g g W”W74%77—7Hrf—f—f—f—f—fﬁfH
6 6
= =
i 100+-0.02 Le =—8"C
Cross-section A-A 2-G4H7 (*3°'2) Depth 5 (*)

Cross-section B-B

Note 1. Stop positions are determined by the mechanical

stoppers at both ends.
Effective stroke | 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 Note 2. Please perform installation and adjustment on the
La 264 | 314 | 364 | 414 | 464 | 514 | 564 | 614 | 664 | 714 | 764 | 814 | 864 | 914 | 964 | 1014 special parts for motor installation by the customer.

For detail, refer to the manual.

Lb 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75 Note 3. For the installation through hole, the length under
Lc 25 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775 head << 30 mm or more>> is recommended for the
Qa 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 hex socket head bolts <M3 x 0.5>. In the installation
Qb 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 tap hole, the length under head <<thickness of stand
Weight (kg) 09 [ 11 [13[15[16 [ 18 | 2 [22 |24 [25[27 [29]31]|33][34]36 710 mm or lese>> is recommended for the hex socket
- ead bolts <M4 x 0.7> used to install the main unit.
Mz;'en;:m I].ee:c:i162 388 ggg ggg 31818 388 ?gg ?28 Note 4. g?z(‘zelfbaﬁ)et for greasing (recommended) (see P.147
(mm/sec) [Speed setting) = 90% | 75% | 60% | 50% | 45% | 40% Part number: KFU-M3861-00
- J

I 134



LBAS04

=
v 8
X 3
o 7
82
2
S o
g3
Sa
o

~
[=)
=3
=)
=]
=
~<

e : N
LBAS04 Bending type (A)
sy 7 o
L3 P (Lo) 57
| k! | - J g o)
: | | 2l o o
J B O H i ~|
| & - || g ) |
i s B [ \R@\ 0 Ll 35
i l | Detailed drawing C Detailed drawing D
: | |
| Left attachment | —_——— - La
T T T - 116 Effective stroke (80)
25(Note 1)  gs
61 (Note 1) ) 50 @ gs
S T
40 o . o
s 8|28 &
o 2P
oF
= 2
%) aQ
(=23
=2 — © 7 T .
B =5 Cross-section A-A
e ————— T &}
o. a_ 1 J
5| 2-M2x0.4 Depth 6 4-M4x0.7 Depth 9.5 (42.6)
< | (same for opposing side) 2-93H7 ("§°'°) Depth 4.5 40
Greasing hole (Note 4) Right attachment 203 950
4 © 2 -
405 S Ol ‘ Q
=T —1— ocD. 4%
7 of 1 o
0 2 9 ] " —
S AT | o o % y‘o QI
Grounding terminal (M4) ) Motor [Y] type =
(same for opposing side) Qa-M4x0.7 Depth 10 ¢3.4 through from rear surface (See cross-section B-B) 4-M4x0.7 Depth 10
[se]
71 Qbx100 (b = @
(45 table knock hole position) E Reference surface (),’,
=8 b
& 3 3 3
7 7,74%”77Hr77777777777E+ gl
6 6
100+/-0.02 Le =—B\C
2-b4H7 (*§°"?) Depth 5 (*)
Cross-section B-B
Note 1. Stop positions are determined by the mechanical
stoppers at both ends.
Effective stroke | 50 | 100 [ 150 [ 200 | 250 [ 300 | 350 | 400 [ 450 | 500 [ 550 | 600 | 650 | 700 | 750 [ 800 Note2. F"ea%el Defforfm installation a”nd_ adi;ﬁ‘:en‘ on the
La 246 | 296 | 346 | 396 | 446 | 496 | 546 | 596 | 646 | 696 | 746 | 796 | 846 | 896 | 946 | 996 Special parts for motor instaliation by the customer.
or detail, refer to the manual.
Lb 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75 Note 3. For the installation through hole, the length under
Lc 25 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775 head << 30 mm or more>> is recommended for the
Qa 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 hex socket head bolts <M3 x 0.5>. In the installation
Qb 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 tap hole, the length under head <<thickness of stand
Weight (kg) 11 121416 [ 18] 1921 [23[25[27 28] 3 [32][34]36]37 ;Wéngﬂlff f&f:(if?’fmmme"_deg ﬁ"{h‘“e hex Soikel
Maximum| Lead 12 800 720 | 600 [ 480 | 400 [ 360 | 320 oad oolts [z usedtonsial e main U k.
speed Lead 6 200 360 1 300 | 240 | 200 | 180 | 160 Note 4. :\:)cr)zdz;?aﬁ)et for greasing (recommended) (see P.147
(mm/sec) [Speed setting] - 90% | 75% | 60% | 50% | 45% | 40% Part number: KFU-M3861-00
. J

135 I



@ Motor-less Single Axis Actuator

Ordering method ‘/'

LBASOS - - [Caution]

This system is provided as mechanical actuator unit and not including any

= | Model [ Lead designation | Shape Motor specification - gdopter;s or electric 'componeqtsl.l Motor, driver and other components required for
3 [20: 20 mm 150 to 800 installation are user’s responsibility. )

=l 10: 10 mm |A:Bending | |P: P specification (see below)| |(50 mm pitch) Refer to user's manual for installation details. Refer to your motor manual for

=) 5:5 mm tuning or adjustment. Vibration or resonance from actuator will affect service life of
= 2:2 mm actuator.
< The product performance may not be satisfied depending on the compatible motor.

For special parts for motor installation, install and adjust on your side.

M Specifications H Allowable overhang \°t¢ M Adaptable Servo Motor

Adaptable motor 100 W A ... |Flange size | []40
— Specification
Repeatability Note! +/-0.01 mm Wattage 100 W
Deceleration Shifting position ball screw ¢ 12 c A B Cc Note. Motor models marked with *
mechanism (C7 class) B c A may not be 100W, but can be
Stroke 50 mm to 800 mm (50 mm pitch) LBAS05-20 installed.
i Note 2. -
?Ill’arxeugﬂmaslzﬁt)i Jrﬁggc m?n?fec mﬁic m:n3/s3ec Horizontal i ion (unitmm)  Wall installation  (unit:mm)  Vertical i ion (unit: mm) Motor |- facturer|  Model
Ball lead 20 mm|10mm| 5 mm | 2 mm A B L C A B L C A< - Vasuk
all screw lea 2ko| 549] 324 272 _ 2kg| 272] 324] 549 _ 1kg| 544 544 Yasukawa |SGMJV-01
M:X,'o";ﬁTms Horizontal| 12kg | 24 kg | 40kg | 45kg 8kg| 155| 73| 65  8kg| 65 73| 155  2kg| 276] 276 Corp. SGM7J-01
Foryequivalent) Vertical| 3kg | 6kg | 12kg | 15kg 12kg| 117 46 42 12kg 42 46| 117 3kg| 195 195 E(zence SV-11010
Rated thrust "3 84N | 169N | 339N | 854N LBAS05-10 i p'b. " e
(or equivalent) Horizontal installation _unitmm)  Wall installation _(unit: mm)  Vertical installation (Unit: mm) E|gscl:riés " THGKR13
Maxlmumtqme?smps v:)f_t W 54 mm x H 60 mm A B C A B Cc A C Corp. [HK-KT13
crossisectioniolimainuni 5kg| 769] 178 213 5kg| 213] 178 769 2kg| 443] 443
Overall length ST +220.5 mm Omron  |R88M-K10030
0 § 9 e 15kg| 314 53] 64  15kg| 64| 53] 314 akg| 218] 218 Electronics |REGN-1M10030
sing ambient to 40°C, 35 to o
temperature and humidity (non-condensing) 24kg] 216] 29] 36 _ 24kg| 36| 29| 216 Skg| 142] 142 SZ:{? R2 [JA04010
- — N LBAS05-5 T
Note 1. Positioning repeatability in one direction. - . . " . . o - ! " Y |Tamagawa |1gp\3104
Note 2. When a moving distance is short and depending Horizontal 1 (unitmm)  Wall installation  (unit: mm)  Vertical (Unit: mm) [S)e\ll:\
on an operation condition, it may not reach the A B c A B c A c Ele ? .. |ECMA-C10401
maximum speed. 10kg| 921 97| 131 10kg| 131 97| 921 3kg| 345 345 ectronics |
p! Fanuc Corp.|3iS0.3/5000
Note 3. The rated thrust and maximum transferable weight 25kg| 459 33 45 25kg 45 33| 459 8kg 124 124 u P KSMA61LI s
are values assuming the attached motor outputs i (ROMAVILIL 1S
the rated torque. 40kg| 436 17 23 40kg 23 17| 436 12kg 79 79 Kingservo KSMAOILG
Note. See P.626 for acceleration/deceleration and inertia LBAS05-2 si 1FK2102-1AG
moment. Horizontal installation _unit:mm) ~ Wall installation  (unit: mm)  Vertical installation (unit:mm) 1eMenS  [1FL6024-2AF
H A A B (o] A B (o] A Cc Schneider |BCH2MBO013
B Static loading moment 15kg| 2685] 78] 109 _ 15kg| 109 78| 2685 _ 5kg| 254 254 Beckhoff |AM3012C
30kg| 1833] 34| 47  30kg| 47| 34| 1833  1okg| 122] 122 pllen TLY-A130 *
wnitnm) — 45kg] 2621] 19] 27 _ 45kg| 27| 19] 2621 _ 15kg] 0 0O P TMSMDOT
P = ="
Liv m MR Note. Distance from center of slider top to center of gravity of object being carried at Corp. MSMFO1
59 63 103 a guide service life of 10,000 km.
Note. Service life is calculated for 500 mm stroke models.
( . N\
LBASOQ5 Straight type (S)
La
141 Effective stroke (79.5)
735 (Note 1) & LA, 57
= —_ — o~
_ 52 §%g 28 ol
= Y22 M~ o ‘N
A 8=F Y A
1 ] ES[OETCES! S 7o T & ] = 35
ie - ! © -
[ — é’if*i*ii*i*ifiiﬁfi’777(7;‘?7’ @tb -
- [EEOEYIES! 5 To i Detailed drawing C ~ Detailed drawing D
4-M5x0.8 Depth 11
g +0.010
2-M2.5x0.45 Depth 6 24SH7 (s ) Depth 6
(same for opposing side) (52.5)
50
34
PCD 45\t 3
) b;n 9\ ) R —
NS s !
— 3 & ~ © I
e S G 3\
4-M4x0.7 Depth 10 Grounding terminal (M4)
(same for opposing side) Qa-M5x0.8 Depth 13 ¢4.4 through from rear surface (See cross-section B-B) 8
Motor [Y] type S
96.5 Qbx100 (Lb) +
= it ~
(25) g (45.5 table knock hole position) 5 P
16.35 22| 88 2 e
~ | %9
I J N I . — — - —— 1 | WO ¥
o 33 ‘ ==l
H | & & N
ESs o~ 7)
b | 100+/-0.02 Le
Cross-section A-A 2-¢5H7 (“§°"?) Depth 7 (*)
Cross-section B-B
Note 1. St iti determined by th hanical
Effective stroke | 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 = sioppercatbotnands. oo
La 270.5/320.5|370.5|420.5|470.5|520.5|570.5|620.5/670.5|720.5/770.5|820.5|870.5|920.5|970.5|1020.5 Note 2. Please perform installation and adjustment on the
Lb 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75 special parts for motor installation by the customer.
Lc 25 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775 For detail, refer to the manual.
Qa 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 Note 3. For the installation through hole, the length under
head << 30 mm or more>> is recommended for the
Qb 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 hex socket head bolts <M4 x 0.7>. In the installation
Weight (kg) 16 | 1.8 | 1.9 | 21 | 24 | 25 | 25 | 2.7 | 2.8 | 2.9 | 31 | 33 | 34 | 3.6 | 3.7 | 41 tap hole, the length under head <<thickness of stand
Lead 20 1333 1133 | 933 | 799 | 666 | 599 +10 mm or less>> is recommended for the hex socket
Maximum | Lead 10 666 566 | 466 | 399 | 333 | 299 head bolts <M5 x 0.8> used to install the main unit.
speed Lead 5 333 283 | 233 | 199 | 166 | 149 Note 4. Nozzle set for greasing (recommended) (see P.147
(mmisec) | Lead 2 133 113 | 93 | 79 | 66 | 59 fordetail)
u Speed setting| - 85% | 70% | 60% | 50% | 45% Part number: KFU-M3861-00 )

Il 136



LBAS05

=
v 8
X 3
o 7
82
2
S o
g3
Sa
o

~
[=)
=3
=)
=]
=
~<

e 3
LBASO05 Bending type (A)
T | o
1 =] : - 1
| = . n !
[ ! ® ' Lc 5.7
= g &= BN
S B C : | g : I o
| & e N I I IS5 |
v o : ‘ 7 35
i | ! & :
: L | l Bottom attachment | Detailed drawing C Detailed drawing D
! Left attachment : [ — — La
[, — 120.5 Effective stroke (79.5)
12 (Note 1) e
53(Note 1) 65 |¢ 23 So
- 2 |tg =
¥ & 3l 2
z7 3 3
— &
% EICE=SES! ) 7o Y
1_ N 1 " [ ] ‘@&
il : §
= ESICIES) S {0 i Cross-section A-A
= 4-M5x0.8 Depth 11
Ni 2-3H7 (*§°'°) Depth 6 Riht .
2-M2.5x0.45 Depth 6 (same for opposing side) 19 (52.5)
Greasing hole (Note 4) 50
(115)
5 © ) 34
435 B SL - S|
__ — _ —
- © 9
N [ T |
Grounding terminal (M4) Qa-M5x0.8 Depth 13 §4.4 through from rear surface (See cross-section B-B)
(same for opposing side)
Qbx100 (Lb)
(45.5 table knock hole position)
= =B
id ¥
- - 7—49——7—4{\——7—7—7—7——F—E»2
| B3 E:S
) (=<—B\C
2-05H7 (*3°"2) Depth 7 (*)
100+/-0.02 Lc 43
Cross-section B-B
Note 1. Stop positions are determined by the mechanical
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 stoppers at both ends.
La 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 Note 2. Please perform installation and adjustment on the
Lb 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75 special parts for motor installation by the customer.
Lc 25 | 75 | 125 [ 175 [ 225 | 275 | 305 | 375 | 425 | 475 | 525 | 575 | 625 | 675 [ 725 [ 775 | . Emfhe‘a_":tfelflez_‘o ‘?he ma';uhﬂ'-l the lenath und
ote 3. For the Installation througl ole, the length under
Qa 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 head << 30 mm or more>> is recommended for the
- Qb 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 hex socket head bolts <M4 x 0.7>. In the installation
Weight (kg) 17 1 1.8 2 22 |24 | 26 | 26 | 28|29 3 32 133135136381 41 tap hole, the length under head <<thickness of stand
Lead 20 1333 1133 | 933 | 799 | 666 | 599 +10 mm or less>> is recommended for the hex socket
Maximum | Lead 10 666 566 | 466 | 399 | 333 | 299 head bolts <M5 x 0.8> used to install the main unit.
speed Lead 5 333 283 | 233 | 199 | 166 | 149 Note 4. Nozzle set for greasing (recommended) (see P.147
(mm/sec) | Lead 2 133 13| 93 | 79 | 66 | 59 for detail)
Speed setting - 85% | 70% | 60% | 50% | 45% Part number: KFU-M3861-00

Sva

137 I



LBASO08

@ Motor-less Single Axis Actuator

ng method

LBASOB - - [Caution]

This system is provided as mechanical actuator unit and not including any

= | Model [ Lead designation Shape Motor specification - gdopter§ or electric pomponer!tsl.l Motor, driver and other components required for
3 50 to 1100 installation are user’s responsibility. )

=l 10: 10 mm |A:Bending | |P: P specification (see below) | |(50 mm pitch) Refer to user's manual for installation details. Refer to your motor manual for

=) 5:5 mm : K specification (see below) tuning or adjustment. Vibration or resonance from actuator will affect service life of
= actuator.
< The product performance may not be satisfied depending on the compatible motor.

For special parts for motor installation, install and adjust on your side.

M Specifications H Allowable overhang \°t¢ M Adaptable Servo Motor

Adaptable motor 200 W A Specification Flange size | [160
Repeatability Note ! +/-0.01 mm P Wattage 200 W
Deceleration Shifting position ball screw ¢ 16 c A B Cc
mechanism (C7 class) B c A Motor 1.
Stroke 50 mm to 1100 mm (50 mm pitch) pecfical el Model
Maximum speed V2 1200 600 300 LBAS08-20 Yasukawa |SGMJV-02
(or equivalent) mm/sec | mm/sec | mm/sec  Horizontal installation wnitmm) Wall installation  (unit:mm) Vertical i ion (Unit: mm) El‘frc;r‘c SGM7J-02
Ball screw lead 20mm | 10 mm 5mm A B [ A B [ A c Keye-nce SV1020
Maximum Horizontal| 40 kg 80 kg 100 kg 15kg| 356 131 146 15kg| 146| 131| 356 3kg| 645 645 Corp. SV2[]020
ayload Note? P 5
E’oryequivalem) Vertical| 8 kg 20kg | 30kg 25kg| 278) 73] 86  25kg| 86| 73| 278  6kg| 333 333 Mitsusshi :(F; +|<(F§233
Notod 40kg| 255 41| 53  4okg|] 53] 41| 255 8kg| 252 252 ecic |(MD-AREd
Rated thrust Corl
(or equivalent) 174N | 341N | 683N voe P HK-KT23
anyo
Maximum dimensions of W 82 mm x H 78 mm LBAS08-10 Den{d R2[JA06020
cross section of main unit Horizontal installation (unitmm)  Wall installation  (Unit: mm)  Vertical i ion (Unit: mm) T: TSM3202
Overall length ST +278 mm A B C A B [3 A [ [S)e‘lk‘ii
Using ambient . 01040 °C, 35 to 80 %RH 30kg| 466 83| 120 30kg| 120 83| 466 5kg| 564 564 Elee‘c?ronics ECMA-C10602
Hemperatiireland humfdiky (non-condensing) Sokg| 342] 44| 65 50kg| 65 44| 342  1okg| 284| 284 Siemens |1FL6032-2AF
Note 1. Positioning repeatability in one direction. Schneider |BCH2LD023
Note 2. When a moving distance is short and depending 80kg| 228 22 34 S0kg 34 22| 228 20kg| 142] 142 Omron R88M-K20030
%nai%%;ﬁrsagsg;ondltlon, it may not reach the LBAS08-5 p Electronics |R88M-1M20030
Note 3. The rated thrust and maximum transferable weight ~ Horizontal i jon (unitmm) Wall installation  (Unit:mm) Vertical i ion (Unit; mm) Panasonic |[MSMD02
are values assuming the attached motor outputs A B T A B T A C Corp. wssmggng
the rated torque. Ki
Note. See P.628 for acceleration/deceleration and inertia 30kg| 1612 95| 153 30kg| 153 95| 1612 10kg| 325 325 K N9V [KSMAD2LG
moment. 50kg| 1041 52| 83  50kg| 83| 52| 1041  20kg| 163 163
A . 80kg| 719 27 44 80kg 44 27| 719 30kg| 109, 109
M Static loading moment
T
; Note. Distance from center of slider top to center of gravity of object being carried at
{Unit: 'm) a guide service life of 10,000 km.
MY, m MR Note. Service life is calculated for 600 mm stroke models.
221 309 343
~
La
| ]
: H 167 Effective stroke (111)
| ! <o
: 89.5 (Note 1) 90 gLD
| | 75 8283 33.5 (Note 1) 57
: i &7 o, , N ]
| | ole]e =3 3 T - m < m‘ N
' : % ! il % = -
FE —_— 1t — T —— | 'P 35
! Cross-section E-E l ; - | | _ e ?gjo @
i 4-M4x0.7 Depth 11 i 2 2 2 - = ) ) ] )
H Motor [P] type : 4-M6x1.0 Depth 13 Detailed drawing C  Detailed drawing D
g S —_
& 2-M3x0.5 Depth 5 2-¢5H7 (“8°”) Depth 8 o1
(30) 2o 5 (same for opposing side) N (1)
18.7 {88 774
6 T|%
— ¥ 3 - 524
o &
P——
O 1
N N~
Cross-section A-A Grounding terminal (M4) (same for opposing side)
Qa-M6x1.0 Depth 15 §5.4 through from rear surface (See cross-section B-B) ey
I e 98 Qbx100 (Lb) 3
i = — +
i (30) g (69 table knock hole position) s § Reference surface
H jﬂ ::/ %% ] K: E3 3 3 3
| '763:" % ﬁi | 4 o 4l o
: B N N 8 _
| = = © 3 & & & N
: 1004/-0.02 Lo <B\C 90 |
! - 2-¢5H7 (*§°"2) Depth 9 (* 0
i Cross-section F-F -95H7 ("9 Depth 9.() 59
H Cross-section B-B
Note 1. Stop positions are determined by the mechanical
Effective stroke | 50 |100/150|200|250|300(350/400/450/500/550/600/650| 700 | 750 | 800 | 850 | 900 | 950 [1000/1050/1100 stoppers at both ends.
La 328|378|428|478|528|578|628|678|728|778|828|878|928| 978 |1028|1078|1128|1178|1228|1278|1328| 1378 Note 2. Please perform installation and adjustment on
Lb 50 [100] 50 [100] 50 [100] 50 |100] 50 [100] 50 [100] 50 [100| 50 | 100 50 | 100 | 50 | 100 | 50 | 100 the specia parts for molor Installation by the
Lc 50 |100[150(200|250(300(350|400[450|500|550(600|650| 700 [ 750 | 800 | 850 | 900 | 950 [1000[1050[1100 Note 3. For the installation through hole, the length under
Qa 66|88 |10]10]12|12|14 /1416|1618 |18 | 20 | 20 | 22 | 22 | 24 | 24 | 26 | 26 head << 45 mm or more>> is recommended
Qb 1]1]2]2[3]3]4]4[5[5]|6[6[7[7[8[8]9]9[10][10][11]N :zf t‘:ethflxtsog‘;e‘ head *ig”sl <th5h * 2&8>r}:n ’
Weight (kg) [3.7]4.1|4.5[4.8/5.2|5.5(5.8(6.2(6.5/6.8/7.2|7.5/7.9]8.2|8.5|8.8|9.2| 9.4 9.8 10.1/10.5[10.9 e hiokaoss of st +15 o o losann i o
) Lead 20 1200 1020| 900 | 780 | 660 | 600 | 540 | 480 | 420 | 360 recommended for the hex socket head bolts <M6
M:’“e“;gm Lead 10 600 510|450 | 390 | 330 | 300 | 270 | 240 | 210 | 180 % 1.0> used to install the main unit.
(e[ Lead 5 300 255 225 | 195 165 | 150 | 135 120 | 105 | 90 Noto Horal sef forgreasing (recommended) (see
\‘ | Speed setting - 85%)| 75% | 65% | 55% | 50% | 45% | 40% | 35% | 30% Part number: KFU-M3861-00 )

B 138



LBAS08

=
o9
= 3
@ 3
82
g
D o
g3
e
5

~
[=)
=3
=)
=]
=
~<

e : N
LBAS08 Bending type (A)
-t T — T — T — "/, T T, T T T T ‘\‘ :7 77777777777777777
- ]
, 1 950
1 | ‘ B (Lo). 57
5 : ' < 3 @
|8 ‘ | =eseoD. ™ 2 3o o
: ! . 0 -
\ ‘ | 8 'P) 35
[ ‘ A R ©e
| : i =F
o T E)ttoiattihmt:ntJ ‘ 4-M4x0.7 Depth 12 Detailed drawing C Detailed drawing D
L Motor [K] type
\' ! La
i \ 153.5 Effective stroke (111) 335 (Note 1)
) ‘ 76 (Note 1) 90
i ! . 75 |Sesm
i | 5148
i 3@6 ‘ 8<+ 52
[ | 3 e[Ele 0 S o1 %?;
} ~E Cross-section E-E: ~| | _ ,7%7,7,7,7,7,7,+,J E, <
; 4-M4x0.7 Depth 12 | | | )
} Motor [P] type B oEle s s C—— Cross-section A-A
e 4-M6x1.0 Depth 13
+0.012 i
2-$5H7 ("§°"?) Depth 8 Right attachment 1)
2-M3x0.5 Depth 5 (same for opposing side) 774
Greasing hole (Note 4) (1w 2 524 g
l eﬁ p_C.D-N
o~ 0|
8 p— ~ N2/
<A
Grounding terminal (M4) Qa-M6x1.0 Depth 15 5.4 through from rear surface (See cross-section B-B !
(same for opposing side) X pi 15 9 ( ) S| Motor [Y] type \4M5x0.8 Depth 12 o
84.5 Qbx100 (Lb) < >
o ¥ @)
W(69 table knock hole position) s 'S’: Reference surface
‘ * * 3
T
H- o — - — 4 - - -4 x
X RN @ <
I Y + Y N
B 9¢
2-95H7 (*§2) Depth 9 () c Ol | °
100+/-0.02 Le 59
Cross-section B-B
Note 1. Stop po;ilions are determined by the
Effective stroke | 50 [100]150]200]250]300]350]400]450]500[550]600]650(700] 750 | 800 ] 850 [ 900 950 [1000[1050[1100  note 2. Piasa pertor metalintian and -
La 314.5[364.5414.5|464.5|514.5|564.5/614.5(664.5|714.5(764.5(814.5(864.5/914.5(964.5| 1014.5| 1064.5| 1114.5 | 1164.5 | 1214.5| 1264.5|1314.5|1364.5 adjustment on the special parts for motor
Lb 50 |100] 50 |100| 50 [100| 50 [100] 50 [100| 50 [ 100 50 |100| 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 installation by the customer. For datall
Lc 50 [100] 150|200 250|300 350|400 |450|500|550]600|650|700] 750 | 800 | 850 | 900 | 950 [1000]1050]1100 Note 3. For the installation through hole, the
Qa 6|6 |8 8[10]10][12[12|14[14]16[16|18]18 |20 [ 20 |22 |22 [ 24 |24 |26 26 1:f;g‘cf;;"nfg;g:g?oﬁh‘*e5hfg;*s%fc Wi
Qb 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 10 1 " bolts <M5 x 0.8>. In the installation tap
Weight (kg) |41 |4.5(4.9(52/56|59/6.2/66/69|7.2|76|79]83|86/89|92]|96]9810.2/10.5/10.9/11.3 hole, the langth under has <<thickness of
stand + mm or less>> is recommende:
v Lead 20 1200 1020[ 900 | 780 | 660 | 600 | 540 | 480 | 420 | 360 e b4
ax'mgm Lead 10 600 510450 | 390 | 330 | 300 | 270 | 240 | 210 | 180 used to install the main unit.
el .| Lead 5 300 255( 225195165 | 150 [ 135] 120 105| 90 Note . Nozzle setor groasing (recommendec)
x‘ | Speed setting — 85%)| 75% | 65% | 55% | 50% | 45% | 40% | 35% | 30% Part number: KFU-M3861-00 )

139 I



=~
[=)
=3
=)
=]
—-
~<

LGXS05 - -

IR - [T -
20: 20 mm 50 to 800
10: 10 mm (50 mm pitch)

[5: 5 mm

B Specifications

[Caution]

This system is provided as mechanical actuator unit and not including any adopters or electric components.
Motor, driver and other components required for installation are user’s responsibility.

Refer to user’s manual for installation details. Refer to your motor manual for tuning or adjustment. Vibration
or resonance from actuator will affect service life of actuator.
The product performance may not be satisfied depending on the compatible motor.

H Allowable overhang \°t¢

M Static loading moment

Adaptable motor 50 W A T

Repeatability Note! +/-0.005 mm

Deceleration Ground ball screw ¢ 12 c A B ¢ o
mechanism (C5 class) B c A ot

Stroke 50 mm to 800 mm (50 mm pitch) m w
Maximum slpeed"°'” 13/33 6f/56 3?3 LGXS05-20 (Unit: N-m)
foitequivalent) mmsec_| MMmISeC | MMSEC Y orizontal installation (wntmm Wall installation  (unit:mm)  Verticali (Unit; mm) MY ‘ MP ‘ MR
Ball screw lead 20 mm 10 mm 5 mm A B T A B T A T 24 ‘ 27 ‘ 23
l\pﬂ:ﬁion;:fpm Horizontal| 5 kg 8kg 13 kg 2kg| 900 270| 351 2kg| 324 234| 812 1kg| 454| 454

(or equivalent)| Vertical| 2 kg 4 kg 8 kg Ska| 583 112] 168 _ ka| 119 76| 427  2kg| 218] 218 |leaBaClUCIICRIRTAIIC]E
Rated thrust Note3 ;

L Fl 40
T 4N BN | BN o Specification W:;ZZ:'ZE 5Dovv
Maximum dimensions of, W 48 mm x H 65 mm Horizontal installation wnitmm) ~ Wall installation  (unit:mm)  Verticali (unit )

A B c A B c A C Manufacturer Model
Overall length ST +131.5mm
b " Ig imoaqavs| 150 CLASS 3 (18014644-1) 2kg| 2506| 382 625  2kg| 585 346 2387  1kg| 732| 732  Yasukawa SGMJV-A5
PR E RIS or equivalent 5kg| 1368] 149] 246  skg| 195] 113[ 1165 _ 2kg| 351 351 FElectricCorp. |SGM7J-A5
Intake air Note® 30 N£/min to 100 N4/min SV-[005
8kg| 1038 90| 150 8k 95 54| 747 4k 160/ 160
Using ambient 0to 40 °C, 35 to 80 %RH 2 H = Keyence Corp. 55005
temperature and humidity (non-condensing) LGXS05-5 HF-KPO53 ™*
Note 1. Positioning repeatability in one direction. Horizontal installation wnitmm  Wall installation  (unit:mm)  Verticalinstallation wnicmmy  MItSUDIShi |HG-KR053 ™
Note 2. When a moving distance is short and depending _ _ _ Electric Corp. ==
on an operation condition, it may not reach the A B [ A B [ A c HK-KT053 "*°
maximum speed. 3kg| 4635 281 497 3kg| 439 245| 4401 4kg| 183] 183 : :
Note 3. The rated thrust and maximum transferable weight Note. To combine with the

are values assuming the attached motor outputg 8kg| 2211] 101] 179 8kg| 117] 65| 1826 6kg| 111 111 conversion adapter

the rated torque. 13kg| 1599] 59| 105  13kg| 42| 24| 1006 8kg| 75 75 <GX-BEND-40>, the shim

Note 4. When using in a clean environment, attach a suction

air joint. The degree of cleanliness is the cleanliness Note. Distance from center of slider top to center of gravity of object being carried at

plate (t1) is necessary.

level achieved when using at 1000 mm/sec or less. id ice life of 10,000 km. Conversion :
Note 5. The required suction amount will vary according Note ggrl:/liczsl"i?évilscia:;;ted’for Gorgmm stroke models adapter product Shlrrr]luprLagzrpart
to the operating conditions and operating . . model
environment. . X . ) GX-BEND-40 | KES-M2295-00
Note. See P.629 for acceleration/deceleration and inertia
moment.
( N\
LGXS05
75 Effective stroke (56.5)
31.5 (Note 1) 35 13 (Note 1)
2 [ ||
E N o_’L 1
2=3| 44—t —-- - -
<55 4 g
2 4 & % a1
Q 4-M5x0.8 Depth 10
2-$3H7 (*3%'°) Depth 5
2 ®) Lb 48
25 g | s° 81 ‘g
45 ) | 88
L i) = ij\: 55 o r—»\
3 3 i - s
5| & ; i S T
© [¥e] |
[=2] =]
0|
| AL
t -
i i 24
Coupling section M61.0 Depth 6 Motor installation block
(For installation of suction air joint) Qc-M5x0.8
Grounding terminal 2 95 Qax100 Qbx50 Depth6 (Note2) 8.5
(M4) 53.5 table knock hole position 100 55
p 50
w0
3|8
] [©) 5 q e} 4.9 5. © I\ ]
g +e > ¢ o 90 el —
R/ 2] )
v A Cross-section
+ 8 £
$4HT7 (*§°"2) Depth 5 o Countersunk hole for Qc-M5
Lc <o Refer to section A cross-section
100 50 (Note 3)
21.5 35 95 Qax100 Qbx50
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 Note 1. Stop positions are determined by the mechanical
181.5]231.5[281.5]331.5[381.5(431.5|481.5(531.5|581.5(631.5]681.5(731.5|781.5|831.5/881.5|931.5 stoppers at both ends.
Lc 110 | 110 | 110 | 110 [ 310 | 310 | 310 [ 310 | 310 | 310 [ 610 | 610 | 610 | 610 | 610 | 610  Note2 When using the tap holes to mount the body, remove
Qa 0 0 0 0 2 2 2 2 2 2 5 5 5 5 5 5 © set screws first. !
Qb 0 1 2 3 0 1 2 3 4 5 0 1 2 3 4 5 ote 3. Whe_n using the countersunk holes (section A cross
section) to mount the body, remove the cap from the
- Qc 2 3 4 5 4 5 6 7 8 9 7 8 9 10 " 12 inner side and then fix. The length under head of the
Weight (kg) 12 114 1156 (17 |19 ]20122 23|25 |26 |28 |29 |31]32]|34)35 hex socket head bolts (M5 x 0.8) used must be 15 mm
Maxi Lead 20 1333 1066 | 933 | 800 | 666 orless.
speed Lead 10 666 532 | 466 | 400 | 333
speed T oad 5 333 266 | 233 | 200 | 166
\ / |Speed setting - 80% | 70% | 60% | 50%

U

I 140



Motor-less Single Axis Actuator

[® Ordering method

LGXSO5L - - (Gaution]

This system is provided as mechanical actuator unit and not including any adopters or electric components.

| Model  HlLead designation [ Motor, driver and other components required for installation are user’s responsibility. g 2 §
ff?o'gﬁ‘ooitch) Refer to user’s manual for installation details. Refer to your motor manual for tuning or adjustment. Vibration g‘; z

5: 5 mm . or resonance from actuator will affect service life of actuator. S5 §

The product performance may not be satisfied depending on the compatible motor. 5— S g_

o

M Specifications H Allowable overhang "°t¢ M Static loading moment

Adaptable motor 100W Al
Repeatability Note ! +/-0.005 mm
Deceleration Ground ball screw ¢ 12 c A B Cc
mechanism (C5 class) B c A
Stroke 50 mm to 800 mm (50 mm pitch)
Maximum speed™ete2 1333 666 333 LGXS05L-20 (Unit: N-m)
(or equivalent) mm/sec mm/sec | mm/sec Horizontal installation (unitmm) Wall installation  (unit: mm) Vertical i jon (Unit: mm) MY \ MP \ MR
Ball screw lead 20 mm 10 mm 5mm A B [ A B [ A c 72 \ 72 \ 64
Maximum Horizontal| 12 kg 24 kg 32 kg 3kg| 1760, 560| 427 3kg| 397, 488| 1599 1kg| 1490| 1490
(':,ryequiva|ent) Vertical| 3 kg 6k 12kg 8kg| 739] 201 154 _ 8kg| 107] 128 528  2kg| 732] 732 Adaptable Servo Motor
12k 611| 134| 105 12k 52 61/ 331 3ki 480/ 480 i
Rated thrust o3 84N | 169N | 339N Z z 2 Specification |\2n9e size | [140
(or equivalent) LGXSO5L10 Wattage 100 W
Maximum dimensions of W 48 mm x H 65 mm )
cross section of main unit Horizontal installation _(unitmm) ~ Wall installation  (unit: mm)  Verticali ion (Unit: mm) Manufacturer Model
Overall length ST +161.5mm A B [ A B C A C Yasukawa SGMJV-01
Degree of cleanliness Mo ISO CL/;\rSeS ﬁi938:t4644-1) 6kg| 2418 388 333 6kg| 277 316 2194 4kg| 554| 554  Electric Corp. [SGM7J-01
TGS 20 No/mi ql 100 N&/mi 12kg| 1400, 187| 161 12kg| 101| 115 1086 6kg| 360 360 K c SV-[1010
ntake air min to min eyence Corp. oo =~ —
Using ambient 01040 °C, 35 to 80 %RH 24kg| 875 86| 74 _24kg| 12| 14] 276 z\ézl-(a (;1Nome
temperature and humidit non-condensin -
perature and umiclty _( ChCens, 9) LGXS05L-5 Mitsubishi HG-KR13 ™
Note 1. Positioning repeatability in one direction. Horizontal installation (nitmm ~Wall installation  (unit:mm)  Vertical installation unitmm)  Electric Corp. |22
Note 2. When a moving distance is short and depending A B T A B T A T HK-KT13 "
on an operation condition, it may not reach the X X
maximum speed. 10kg| 3144| 254| 225 10kg| 162| 181| 2817 5kg| 501 501 Note. To combine with the
Note 3. The rated thrust and maximum transferable weight conversion adapter
are values assuming the attached motor outputs 20kg| 1850 120 106 20kg 42 47| 1282 10kg| 235] 235 <GX-BEND-40>, the shim
the rated torque. 32kg| 1560 70 62 32kg 0 0 0 12kg| 190/ 190 plate (t1) is necessary.
Note 4. When using in a clean environment, attach a suction N X 3 X " X
air joint. The degree of cleanliness is the cleanliness Note. Distance from center of slider top to center of gravity of object being carried at Conversion Shim plat 7
level achieved when using at 1000 mm/sec or less. a guide service life of 10,000 km. adapter product "Eupmabgrpar
Note 5. The required suction amount will vary according Note. Service life is calculated for 600 mm stroke models. model
to the operating conditions and operating GX-BEND-40 | KES-M2295-00
environment.
Note. See P.630 for acceleration/deceleration and inertia
moment.
( N\
LGXS05L
20 Effective stroke (71.5)
31.5 (Note 1) 65
25 13 (Note 1)
2 1
8 — & ¢ O Jn! O T |
o
o= Jr T [T
I59 1 -1 1 -—— = —— = —— = -1
¥ o ] e
3 . e o &6 o |/ [ o1/
< 8-M5x0.8 Depth 10
_ 2-p3H7 (*§*'°) Depth 5
s (5) Lb 48
25 5|99 « 1M 42
45 _| Z| o 32
= —— | -
g g ) i I I S T 17 0 ‘
ol
5 ® 9 I
D ©
w0
| i '
Coupling section 4M’\24>;0(.)7DDe‘t)rt1h68 \Motor installation block 24|
) . x1.0 Dep!
Grounding terminal For installation of Qc-M5x0.8 Depth 6 (Note 2)
(M4) (S pelipeichl 2520 - Qax100 = Qbx50 iy
(68.5 table knock hole position) 55
0| v
D w0
&
18,8 {sie ; oS O ool ooy Il 5
o © *® > ve "0 YO "He Il ] x
n
w|R) A Cross-section
$4HT7 ("8°"?) Depth 5 100 5.5 2 L 50 Countersunk hole for Qc-M5
Lo <o Refer to section A cross-section
215 35 |20 Qax100 Qbx50 (Note )
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 Note 1. Stop positions are determined by the mechanical
211.5]261.5/311.5/361.5/411.5|461.5|511.5]561.5/611.5(661.5711.5|761.5|811.5|861.5|911.5|961.5 stoppers at both ends.
Lc 130 [ 130 | 130 | 130 | 330 | 330 | 330 | 330 | 330 | 330 | 630 | 630 | 630 | 630 | 630 | 630  Note 2. When using the tap holes to mount the body, remove
Qa 1 1111131333336 6161666 the set screws first.
Note 3. When using the countersunk holes (section A cross
Qb 0 1 2 3 0 1 2 3 4 5 0 1 2 3 4 5 section) to mount the body, remove the cap from the
- Qc 3 4 5 6 5 6 7 8 9 10 8 9 10 1 12 13 inner side and then fix. The length under head of the
Weight (kg) 14 |15 [ 17 [ 18 |20 | 22 | 23 | 25|26 28 29 3132343537 hex socket head bolts (M5 x 0.8) used must be 15 mm
Maximum | Lead 20 1333 1066 | 933 | 800 | 666 orless.
Lead 10 666 532 | 466 | 400 | 333
o speed | o405 333 266 | 233 | 200 | 166
\‘ ’ |Speed setting - 80% | 70% | 60% | 50% )

141 N



=~
[=)
=3
=)
=]
—-
~<

LGXS07 | |
This system is provided as mechanical actuator unit and not including any adopters or electric components.
| Model [ Lead designation i Motor, driver and other components required for installation are user’s responsibility.
80:30mm | 50 to 1100 Refer to user's manual for installation details. Refer to your motor manual for tuning or adjustment. Vibration
120: 20 mm (50 mm pitch) N ) .
10: 10 mm or resonance from actuator will affect service life of actuator.
5:5 mm The product performance may not be satisfied depending on the compatible motor.
M Specifications H Allowable overhang \°t¢ M Static loading moment
Adaptable motor 100 W A T
Repeatability Note ! +/-0.005 mm
Deceleration Ground ball screw ¢ 15 c A B [ -
mechanism (C5 class) B c A Pivi R X [P
Stroke 50 mm to 1100 mm (50 mm pitch) LGXS07-30
Maximum speed Note2 1800 | 1200 | 600 300 A - . " . . . - . " (Unit: N-m)
(or equivalent) mm/sec | mm/sec | mm/sec| mm/sec ww Msta:ahon (nit: ) mﬂmm My | MP [ MR
Ball screw lead 30mm |20 mm |10 mm | 5 mm 2kg| 3084 1512] 1223 2kg| 1240] 1445| 2981 1kg| 2340 2340 138 | 121 | 121
Maximum Horizontal| 10 kg | 25kg | 45kg | 85 kg 6kg| 1191) 502| 418 6kg| 393| 435/ 1063 2kg| 1160] 1160
payload "ot : l Adaptable Servo Motor
(or equivalent)| Vertical] 2kg | 4kg | 8kg | 16kg 10kg| 957| 318 282 10kg| 245/ 251| 794 p
Rated thrust N3 LGXS07-20 ... |Flange size | []40
(or equivalent) 56N | 84N | 169N | 339N Horizontal installation _(unit mm) ~ Wall installation  (unit: mm)  Vertical installation (Unit: mm) Specification Wattage 100 W
Maximum dimensions of A B A B C A
cross section of mainunit| /70 mm X H76.5mm 10kg| 1331] 371] 358 _ 10kg| 314] 305| 1168 _ 1kg| 3425 3425 Manufacturer Model
Overall length ST +202 mm 20kg| 1144| 187 189 20kg| 132 120 812 2kg| 1705 1705 Yasukawa SGMJV-01
Degree of cleanliness " I1ISO CLé\rsfqﬁigigr?me'” 25kg| 1829] 169 182 25kg| 117| 103] 1249 4kg| 843 843  Electric Corp. [SGM7J-01
Intake air Notes 30 N£¢/min to 115 N£&/mi LGXS07-10 Ki C Sv-Jjoto
nhtake air min to min Horizontal installation _(unitmm) Wall installation  (unit:mm)  Vertical installation (unit:mm) eyence Corp. SV2-[1010
Using ambient o 0t040°C, 35t0 80 %RH A B A B C A o
temperature and humidity (non-condensing) 15kg| 2431 330 373 _ 15kg| 307| 273 2208 __ 3kg| 1693] 1693  pusubishi oS
Note 1. Positioning repeatability in one direction. 30kg| 1536 160] 177 _ 30kg| 107] 94| 1161 6kg| 830] 830 Electric Corp. |1C-KR13 ™
Note 2. When a moving distance is short and depending 45kg| 1188] 101] 112 45kg 39 35 629 8kg| 614 614 HK-KT13 "*°
on an operation condition, it may not reach the X X
maximum speed. LGXS07-5 Note. To combine with the
Note 3. The rated thrust and maximum transferable weight  Horizontal installation (unit: mm) Wall installation  (unit: mm)  Vertical installation (unit: mm) conversion adapter
are values assuming the attached motor outputs A B A B C A <GX-BEND-40>, the shim
the rated torque. late (t1) i 3
Note 4. When using in a clean environment, attach a suction 30kg 2918 172 197 30kg 122 106| 2461 bkg| 907| 907 plate (1) is necessary
air joint. The degree of cleanliness is the cleanliness 50kg| 2543 96| 110 50kg 34 30| 1480 9kg| 591 591 Conversion Shim plate part
level achieved when using at 1000 mm/sec or less. 85kg| 2031 49 56 85kg 0 0 0 16kg 315 315  adapter product nupmberp
Note 5. The required suction amount will vary according . , , . . R model
to the operating conditions and operating Note. Distance from center of slider top to center of gravity of object being carried at GX-BEND-40 | KES-M2295-00
environment. a guide service life of 10,000 km.
Note. See P632 for acceleration/deceleration and inertia Note. Service life is calculated for 600 mm stroke models.
moment.
( )
LGXS07
113 Effective stroke (89)
36.7 (Note 1) 88 12.7 (Note 1)
32
o [
S > ¢ ¢ & T T S o 7T 1
e T [
2N | ‘ |
oc2 R - ﬁififiiwflfk
© g3 T i ‘ i
¥ L g
3 ¢ S & & & I o o | ]
= 8-M5x0.8 Depth 15
+0.012
-~ 5). 2-¢5H7 (*°'*) Depth 8 b 70
s B]Se (146.6) 63
55 ) = N T4
Do~ .
~| T (9 e
S p2 [l F /I 7
o & T i
w0
bl ©
Coupling section M6x1.0 Depth 6 . M.otc?rvinstallation block
(For installation of suction air joint)
Grounding terminal 4-M4x0.7 Depth 8 15 (Qa-1) x60 9.5
(W4) (77.5 table knock hole position) 60 Qa-M6x1.0 Depth 7 (Note 2) 55
0w
I N 38 K
"@ o | & % & & & 5@ @m
¢ ¢ ¢ ¢ ¢ \d & -
b ©-© @ @ @ © @0 @m Y
| I
e 2| R/2] A Cross-section
+ So Qf
G4HT7 (*392 ) Depth 5 100 %8 50 Countersunk hole for Qc-M5
Lo Refer to section A cross-section
355 35 15 130 Qbx100 Qox50 (Note 3)
Effective stroke | 50 [100]150(200]250(/300|350/400/450(500|550(600(650(700] 750 | 800 | 850 | 900 | 950 [1000(1050{1100 Note 1. Stop positions are determined by the mechanical
Lb 252]302|352]402|452|502(552(602|652(702]752(802|852|902| 952 [1002[1052]1102[1152]1202[1252|1302 stoppers at both ends.
Lc 160/160[160[160[360|360[360[360|360[360[360[360|760[760| 760 | 760 | 760 | 760 | 760 | 760 | 760 | 760 Note 2. When using the tap holes to mount the body,
Qa 415|567 |89 [10[10]|11[12]13[14[15] 15 [ 16 | 17 [ 18 | 19 | 20 [ 20 | 21 remove the set screws first. _
Qb 0 0 0 0 2 2 2 2 2 2 2 2 6 6 6 6 6 6 6 6 6 6 Note 3. When using the countersunk holes (section A
Qc 0 1 2 3 0 1 2 3 4 5 6 7 0 1 2 3 4 5 6 7 8 9 cross section) to mount the body, remove the cap
Qd 6 | 8 [10 1210 (1214 [16 18 |20 22 2418 [20 22 [ 24 | 26 | 28 | 30 | 32 | 34 | 36 from the inner side and then fix.
Weight (kg) 3.2/3.4/37/4.0/43/45/48/51/5.3/56/59(6.2/164/6.7/ 70727578 |81[/83/86]8.9
Lead 30 1800 1530(1350(1170] 990 | 900 | 810 | 720 | 630
Maximum|_Lead 20 1200 1020[ 900 | 780 | 660 | 600 | 540 | 480 | 420
speed | Lead 10 600 510 | 450|390 | 330 | 300 | 270 | 240 | 210
(mml/ Lead 5 300 255|225 | 195|165 | 150 | 135 | 120 | 105
Speed setting - 85%75% |65%|55%|50% |45% |40% | 35%

\C

B 142



Motor-less Single Axis Actuator

[ Ordering method

LGXS10 [ |
This system is provided as mechanical actuator unit and not including any adopters or electric components. =
| Model [ Lead designation i Motor, driver and other components required for installation are user's responsibility. g g5
B0:30mm | 1100 to 1250 Refer to user’s manual for installation details. Refer to your motor manual for tuning or adjustment. Vibration o s
[20: 20 mm (50 mm pitch) . L Q an
10: 10 mm or resonance from actuator will affect service life of actuator. S§°
5:5 mm The product performance may not be satisfied depending on the compatible motor. 5— g2
-y
M Specifications H Allowable overhang "°t¢ M Static loading moment
Adaptable motor 200 W Al
Repeatability Note ! +/-0.005 mm
Deceleration Ground ball screw ¢ 15 c A B C
mechanism (C5 class) B c A
Stroke 100 mm to 1250 mm (50 mm pitch) -
Maximum speed Note2 1800 | 1200 | 600 300 A -2 . - . . - A . " (Unit: N-m)
(or equivalent) mm/sec| mm/sec| mm/sec | mm/sec %w MStaRat'D"B ‘U""'(':"'") Vertical '"Stalk’m" (u"'é'"'"' My | MP [ MR
Ball screw lead 30mm |20 mm |10 mm | 5 mm 10kg| 880] 538/ 292 10kg| 272] 474] 805 1kg| 4142 4142 274 \ 274 \ 241
Maximum Horizontal| 25 kg | 40 kg | 80 kg | 100 kg 20kg| 607| 256| 146 20kg| 118] 192| 480 4kg| 987| 987
payload Metes . 25kg| 608|211 124 _ 25kg| 93] 147| 454 M Adaptable Servo Motor
(or equivalent)| Vertical| 4 kg 8kg | 20kg | 30kg
Note3 LGXS10-20 Flange size 60
ﬁt:gl}mﬁ:‘q 113N | 170N | 341 N | 683 N Horizontal installation _(uni:mm) ~Wall installation _ (unit: mm) Vertical installation (unitmm)  Specification Watgge 2§0 W
= 5 E A B o] A B [o] A C
Maximum dimensions of
cross section of main unit W 100 mm x H 99.5 mm 15kg| 1272 35‘21 f82 15kg igi :1388 116? 3kg 210?7 ﬁ0€157 Manufacturer Model
Overall length ST + 175.5 mm 25kg| 756 254] 158 _ 25kg 90 63 Gkgl 10151 1015 O awa  |SGMJIV-02
40kg| 468] 142 88 _ 40kg| 51 78] 313 8kg| 752| 752 ; A
Degree of cleanliness "ot* ISO CLASS 3 (1SO14644-1) ———  Electric Corp. [SGM7J-02
or equivalent LGXS10-10 SV-[]020
Intake air Notes 30 NZ/min to 90 N&/min Horizontal installation nitmm) ~Wall installation _ (unit:mm)  Verticalinstallation (Unitmm  Keyence Corp. W
S = A B C A B C A C -
Using ambient 0 to 40 °C, 35 to 80 %RH
T T ST S (non-condensing) 30kg| 1801] 299] 204 _ 30kg| 163] 235[ 1630 _ 5kg| 1932 1932 ~ HF-KP23
Note 1. Positioni tability i directi 50kg| 1361 163 111 50kg 69 99| 1064 10kg| 934 934 II\Elllltsublsgl HG-KR23 "*°
ote 1. Positioning repeatability in one direction. ectric Corp. | — 22
Note 2. When a moving distance is short and depending 80kg| 1273 87 59 80kg 16 23|_559 20kg| 436|436 P HK-KT23
on an operation condition, it may not reach the LGXS10-5 X N
maximum speed. ) ) Horizontal installation _wnitmm) Wall installation _ (unit:mm) ~Verticalinstallation wniemm ~ NOte. T combine with the
Note 3. The rated thrust and maximum transferable weight A B C A B C A C conversion adapter
;ahr: :/;Iéj;’foa;z'fjléming the attached motor outputs 30kg| 5603] 321] 225 30kg| 181 258 5193 10kg| 1018 1018 <IGX—B1END—60>, the shim
. te (t1) i A
Note 4. When using in a clean environment, attach a suction —o0kg| 3691 177] 124 _ 50kg 79| 13| 3109 _ 20kg| 477 477 plate (1) is necessary
air joint. The degree of cleanliness is the cleanliness _ 80kg| 2614| 95 67 _ 80kg| 22 31| 1555 _ 30kg 296| 296 Conversion | gpir oioee oo
level achieved when using at 1000 mm/sec or less. 100kg| 2218 68 48 _100kg| 0 0 0 adapter product nupmberp
Note 5. The required suction amount will vary according ) R 3 . . . model
to the operating conditions and operating Note. Dlstel\nce from cgnter of slider top to center of gravity of object being carried at GX-BEND-60 | KEV-M2295-00
environment. a guide service life of 10,000 km.
Note. See P.634 for acceleration/deceleration and inertia Note. Service life is calculated for 600 mm stroke models.
moment.
( )
LGXS10
88 Effective stroke (87.5)
10 (Note 1) 95 9.5 (Note 1)
180
¢ rj 38
E T
£y i !
8o \ t
ke | L] 1l
& \_8-M5x0.8 Depth 9 _6_
+0012 35 1.5
2-G4HT (*3%'2) Depth 6
0| ™|
— @, Lb ‘ 33
Tﬁ« 2|5 M6x1.0 Depth 6 (150) 2-M5x0.8 Depth 10 100 —
N55° <2 (For installation of . 2 places at same position on opposing sides
14 | < suction air joint) % © «S P P pposing ) 84 . .
Iz pe B | | Detail of section B
iz e JIER o
i i 0N o o i
_t T J| O | ,z I
= " . L | 1 I
Grounding terminal T ‘ J ‘ B w
Coupling section (M4 4-M5x0.8 Depth 8 \Motor installation block - |88 < 2
Qa-M6x1.0 Depth 12 100 o =
88 _ 50 Qcx200 Ld__ 6060 (ko) S
70 200 ES
i E— :
§ = 7— " Ci §
Ie————
3 : 2 : ]
+0.015 - ; 5 2 =
$10H7 (*9""°) Refer to section C cross-section 200 iu: §<)
+0.012
2:46H7 (*6°) Depth 8 100 Qdx200 C cross-section Detail of section A »
10+/-0.02 Lc

Countersunk hole for Qb-M6 B '
Refer to section C cross-section (Note 3) Note 1. Stop positions are determined by the
mechanical stoppers at both ends.

Effective stroke [100]150 [ 200250300 350[400[450]500]550] 600650700750 800850900950 [1000[10501100[1150[1200[1250 Note 2. The length under head of the
275.5/325.5|375.5[425.5|475.5(525.5|575.5|625.5|675.5|725.5|775.5(825.5|875.5|925.5|975.5|1025.5|1075.5| 1125.5| 1175.5 1225.5| 1275.5| 1325.5] 1375.5| 1425.5 hex socket head bolts <M6 x
Lc 100[150 200250300 350[400[450|500]550|600]|650]700750[800|850]900|950|10001050[11001150[1200{1250 1:‘1’;;‘”“ to ";,"“”“"e‘b“V .
Ld 0 [ 50 [100[150]200] 50 [100[150]200] 50 [100[150]200] 50 |100[150]200] 50 [100[150]200] 50 [100[150 holes (section € sross-sastion)
Qa 8 [10 |10 [10 [10 [12 [12 [ 1212 [14 |14 |14 [14 |16 | 16 | 16 | 16 | 18 | 18 | 18 | 18 | 20 | 20 | 20 muStbe <220 mm or moress.
Qb 46 666|888 8[10[10[10][10[12 1212 [12 |14 |14 |14 |14 |16 | 16 | 16 The recommended length under
Qc 0 [0]lO0O[O[O[ 1 [1[1[1 2222333344 4455715 head of the hex socket head
Qd 0O|lo0oj]O0O|JO]JO][1 1 1 1 212|122 |3|3|3|3|4|/4|4]4]5|51]5 bolts <M6 x 1.0> used to mount
Weight (kg) 46511566166 717681 86]9.1]9.6[10.1/10.6/11.1[11.6/12.1[12.6(13.1[13.6(14.1]14.6/15.115.6/16.1 the body with the mounting tap
Lead 30 1800 153013501170/ 990900 810 720]630] 540 |450 hole specifications is <<frame
Maxi Lead 20 1200 1020{900 780 |660|600|540[480[420| 360 | 300 thickness + 10 mm or less>>.
speed | Lead 10 600 510]450/390/330[300[270[240[210| 180 [150 Note3. When using the mounting
(mmisec)_Lead 5 300 255225195 (165|150 [ 135|120 105] 90 75 °°“"‘ef5ut'?khf;'es(Sect"&ng ’
- Speed setting - 85%75%165%|55%|50%|45%|40%|35%| 30% |25% f;ﬁ:;:ﬁﬁ;zﬁ; e then e Y-)

143 N



=~
[=)
=3
=)
=]
—-
~<

LGXS12{ |
This system is provided as mechanical actuator unit and not including any adopters or electric components.
| Model [ Lead designation [ Motor, driver and other components required for installation are user's responsibility.
B0:30mm | 1100 to 1250 Refer to user's manual for installation details. Refer to your motor manual for tuning or adjustment. Vibration
120: 20 mm (50 mm pitch) . . .
10: 10 mm or resonance from actuator will affect service life of actuator.
5:5 mm The product performance may not be satisfied depending on the compatible motor.
M Specifications H Allowable overhang \°t¢ M Static loading moment
Adaptable motor 400 W A
Repeatability Note! +/-0.005 mm
Deceleration Ground ball screw ¢ 15 c A B [ -
mechanism (C5 class) B c A [MP)
Stroke 100 mm to 1250 mm (50 mm pitch)
Maximum speedtet:2 1800 | 1200 600 300 Iﬁgr)i(z%:\tza-l:;igstallation (unit:mm) ~ Wall installation  (unit: mm)  Vertical installation (unit: mm) 5
(or equivalent) mm/sec | mm/sec | mm/sec | mm/sec A B —— — A B : —AT MY \ MP \ MR
Ball screw lead 30 mm |20 mm | 10 mm | 5 mm 10kg| 1800| 1076] 638 _ 10kg| 632 1011 1724 3kg| 2646] 2646 334 334 | 204
Maximum Horizontal| 35 kg | 50 kg | 95kg | 115 kg 20kg| 1298| 531] 332 20kg| 315| 466] 1169 6kg| 1291 1291
payload Nete3 . 35kg| 1343 335| 228 _ 35kg| 198] 270] 1133 _ skg| 952 952 | _NAGETEICICTEAN L]
(or equivalent)| Vertical 8kg | 15kg | 25kg | 45kg
Note 3 LGXS12-20 Flange size 60
E;art:gl}i[:fr;::;t) 225N | 339N | 678 N | 1360 N Horizontal installation nit:mm) ~ Wall installation  (unit:mm) Vertical installation unitmm  Specification Wattde EOW
= S 5 A B (o] A B (o] A [o]
Maximum dimensions of
cross section of main unit W 125 mm x H 101 mm ;g:g‘ ?ggg igg g;g ;z:g ‘ng :?gl 2111‘;? 1;:9 igfg %gfg Manufacturer Model
1l length T+ 211, 9 9 9 a
Oyerallllengt S Smm 50kg| 884|238 164 _ 50kg| 126 173| 713 _ 15kg| 805 805 Yasukawa  [SGMJV-04
i votes| SO CLASS 3 (1SO14644-1) Electric Corp. |SGM7J-04
Degree of cleanliness R
or equivalent LGXS12-10 SV-[040
Intake air Nete5 30 N£/min to 90 N&/min Horizontal installation (unit mm ~ Wall installation _ (unit: mm)  Vertical installation Unitmm)  Keyence Corp. W
- . 5 S A B C A B C A C -
:’esn',’;)gef;‘l?,':';tnd humidity 0 t°(ﬁ2n%o?,%é%fi?,g/j’RH 30kg| 3119] 609] 457 _ 30kg| 415| 544] 2988 _ 10kg| 1868 1868 o HF-KP43
Note 1. Positioni tability i directi 50kg| 2430] 346 261 50kg 216 281 2217 15kg| 1225 1225 II\EIIIIISLtJt?ISEI HG-KR43 No©
ote 1. Positioning repeatability in one direction. ectric Corp. | —~ "2 __
Note 2. When a moving distance is short and depending 80kg| 2430] 199 151 80kg| 104 134] 1939 25kg| 711 LAk P HK-KT43 "
on an operation condition, it may not reach the 95kg| 2565 160 121 95kg 74 95| 1838 K R
maximum speed. . ) LGXS12-5 Note. To combine with the
Note 3. The rated thrust and maximum transferable weight  Korizontal installation wnitmm) ~Wall installation _ (unit:mm) ~ Vertical installation wnitmm conversion adapter
are values assuming the attached motor outputs A B T ¢~ | A B T — T A ¢ <GX-BEND-60>, the shim
the rated torque. late (t1) i 2
Note 4. When using in a clean environment, attach a suction 30kg| 11075] 653| 504 30kg| 456| 588| 10687 15kg| 1332| 1332 plate (t1) is necessary
air joint. The degree of cleanliness is the cleanliness __ 50kg| 7428 373| 288 _ 50kg| 239 308| 6930 _ 30kg| 634 634 Conversion [gro 0
level achieved when using at 1000 mm/sec or less. 80kg| 5449| 215 166 80kg 117 150| 4706 45kg| 460| 460  adapter product nupmberp
Note 5. The required suction amount will vary according 115kg| 4354/ 136/ 105 115kg 55 711 3214 model
to the operating conditions and operating - - - -
environment. Note. Distance from center of slider top to center of gravity of object being carried at GX-BEND-60 | KEV-M2295-00
Note. See P.636 for acceleration/deceleration and inertia a guide service life of 10,000 km.
moment. Note. Service life is calculated for 600 mm stroke models.
( )
LGXS12
106 Effective stroke (105.5)
130
10.5 (Note 1) 12 10 (Note 1)
” ‘ 1| 82
£ i
S cx
058 **F***JF* I
T2 " I
g Il
] = S 6
< 8-M6x1.0 Depth 12 35 1.5
2-G4H7 (*§*"?) Depth 6
©) Lb e
g 185 2-M5x0.8 Depth 10 ”‘ET -
< 2-M6x1.0Depth 6 450 50 (67.5 (2 places at same position on opposing sides) 125 0l o
= (For installation of 5 o 105 Detail of section B
Z suction air joint) 00.10 i T i
2 D2 s ] L 1
< o = ©
s < 1
) . & W~ | 400 °
Grounding terminal =t ‘ ‘ B o ©
Coupling section (M) 4-M5x0.8 Depth 8 \Motor installation block 112 % 2 o
Qa-M6x1.0 Depth 12 £
106 _ 50 Qcx200 Ld 60__60 <
70 w0 ‘ g 18 (Lo) s
— +
o~ e + < + + + _%_ - =]
2 s . s | ~ ]
7 (o — 4
s s
© 1
=2 + + + . £ 1\1: ] Qﬁ_g
H10H7 (*3°%°) Refer to section C cross-section 200 A 6'1 0 N N
2-$6H7 (*§°") Depth 8 100 Qdx200 ) . -
10+/-0.02 Lc C cross-section Detail of section A
Countersunk hole for Qb-M6 Note 1. Stop positions are determined by the
Refer to section C cross-section (Note 3) mechanical stoppers at both ends.
Note 2. The length under head of the
Effective stroke [100[150|200|250|300|350|400|450|500 550|600 650|700 |750|800|850(900|950[100011050[1100/115011200/1250 hex socket head bolts <M6 x
Lb 311.5/361.5/411.5|461.5|511.5|561.5|611.5|661.5/ 711.5|761.5(811.5|861.5/911.5/961.5/1011.5[1061.5| 1111.5| 1161.5| 1211.5| 1261.5]| 1311.5|1361.5| 1411.5| 1461.5 1.0> used to mount the body
Lc 100[150{200|250|300|350[400|450|500|550|600|650|700|750|800|850|900|950|100011050/1100[1150{1200[1250 with the mounting countersunk
Ld 0 | 50 [100|150/200| 50 |100]150|200| 50 [100|150|200| 50 {100]150/200| 50 [100|150|200| 50 |100]| 150 holes (saction C cross-section)
Qa 8 110]/10/10/10 |12 |12 |12 |12 |14 |14 |14 |14 |16 |16 |16 |16 |18 | 18 | 18 | 18 | 20 | 20 | 20 must be <<20 mm or more>>.
Qb 416166681888 101010101212 12 121414141416 1616 The recommended length under
Qc 0lofoJofo[1 1 1[1[2[2]2[2[3]3[3[3[4[4[4[a4]5[5][5 Bots M6 105 o e it
Qd 0 lolofofo[ 1[4 1 [1][2]2[22[3[3[3[3[44]4[4][5][5]5 the body with the meunting tan.
Weight (kg) (6.5 7.1 [ 7.8 [8.5] 9.1 [9.8[10.5]11.2[11.8[12.5[13.2[13.9]14.5]15.2|15.9]16.5[17.2]17.9]18.6]19.219.9/20.6(21.3[21.9 o aationn o P
- Lead 30 1800 1530[1350[1170/990[900] 810 | 720|630| 540 |450 thicknoss + 10 mm or loseos.
Maximum|_Lead 20 1200 1020[900 780 [660600[540[480[420[ 360 [300  Note 3. When using the mounting
speed | Lead 10 600 510 [450]390/330/300|270|240|210 180 50 countersunk holes (section C
(mmisec)_Lead 5 300 255|225[195[165[150 | 135 120 | 105 90 75 cross-section) to mount the body,
\- Speed setting — 85%]75%165%55%|50%|45%[40%[35%| 30% [25% remove the seal, and then fix.

J

I 144



Motor-less Single Axis Actuator

[ Ordering method

I R - [P -
40: 40 mm 100 to 1450
120: 20 mm (50 mm pitch)

10: 10 mm
B Specifications

[Caution]

This system is provided as mechanical actuator unit and not including any adopters or electric components.
Motor, driver and other components required for installation are user’s responsibility.

Refer to user’s manual for installation details. Refer to your motor manual for tuning or adjustment. Vibration
or resonance from actuator will affect service life of actuator.

The product performance may not be satisfied depending on the compatible motor.

H Allowable overhangN°t

M Static loading moment

Adaptable motor 750 W A
Repeatability Note ! +/-0.005 mm
Deceleration Ground ball screw ¢ 20 B o
mechanism (C5 class) B (o] A c o
Stroke 100 mm to 1450 mm (50 mm pitch)
Maximum speed Note2 2400 1200 600 LGXS16-40 (Unit: N-m)
(or equivalent) mm/sec | mm/sec | mm/sec _ Horizontal installation (uni:mm Wall installation _ (unit: mm) Vertical installation (unit: mm)
Yertical installation it mm), My [ mP | MR
Ball screw lead 40mm | 20mm | 10 mm A B A B A c 706 | 706 | 620
= 5 15kg| 2876| 1866| 1253 15kg| 1273| 1801| 2798 3kg| 6604 6604
Maximum Horizontal| 45 kg 95 kg 130 kg
payload Netes 30kg| 3071| 1062] 869 30kg| 884 999| 2925 6kg| 3834| 3834 HA I s M
(or equivalent)| Vertical| 12kg | 28kg | 55kg 45kg| 3920] 810] 731 _ 45kg| 728] 747| 3677 _ 12kg| 3466] 3466 daptable Servo Motor
Rated thrust Noe3 i
(or equivalent) 320N 640N 1280 N LGXS16-20 Specification Flange size | [180
Maximum dimensions of Horizontal installation (unit:mm) ~ Wall installation  (Unit: mm)  Vertical installation (Unit: mm) Wattage 750 W
cross section of main unit W 160 mm x H 130 mm A B C A B C A c
Overall length ST+ 2425 mm 30kg| 3873| 1258| 1109 _ 30kg| 1105 1195] 3753 _ 10kg| 3411 3411 _Manufacturer Model
. MJV-08
) " ISO CLASS 3 (ISO14644-1) 50kg| 2573| 735/ 653 50kg| 632| 672| 2427 20kg| 1744| 1744 Yasukawa SG
Mg eeEm s or equivalent 80kg| 1801 441] 395 _ 80kg| 361] 378] 1615 _ 28kg| 1566] 1566 Electric Corp. |SGM7J-08
Intake air Notes 30 N£/min to 90 N&/min 95kg| 1584/ 363| 326 95kg| 289| 301| 1378 SV-[]075
Using ambient 0'to 40 °C, 35 to 80 %RH Keyence Corp. o\ o o075
temperature and humidity (non-condensing) LGXS16-10
- o — Horizontal installation (unitmm) ~ Wall installation __ (unit: mm)  Vertical installation (unit: mm) L HF-KP73
Note 1. Positioning repeatability in one direction. - T A B C A B C ~ T A [ c _Mitsubishi [HG-KR73 ™*
Note 2. When a moving distance is short and depending 50kg| 6270 1030] 1028 _ 50kg] 984| 967| 6106 _ 15kg| 3444| 3444  FElectricCorp. o ™" — =
on an operation condition, it may not reach the HK-KT7M3
maximum speed. 80kg| 4459| 625 626 80kg| 575/ 563| 4252 30kg| 1689 1689 Note. T bi ith th
Note 3. The rated thrust and maximum transferable weight ~_ 100kg| 3975| 491| 492 100kg| 439 428| 3723 _ 55kg| 891 891 ote. To combine with the
are values assuming the attached motor outputs 130kg| 3792| 366] 368 130kg| 313] 304| 3429 conversion adapter
<GX-BEND-80>, the shim

the rated torque.

Note 4. When using in a clean environment, attach a suction Note. Distance from center of slider top to center of gravity of object being carried at

air joint. The degree of cleanliness is the cleanliness
level achieved when using at 1000 mm/sec or less.
Note 5. The required suction amount will vary according
to the operating conditions and operating
environment.
Note. See P.638 for acceleration/deceleration and inertia
moment.

a guide service life of 10,000 km.
Note. Service life is calculated for 600 mm stroke models.

plate (t1) is necessary.

Conversion
adapter product
model

Shim plate part
number

GX-BEND-80 | KEX-M2295-00

(LGXS16

149
(Between knocks

2-M6x1.0Depth 6
(For installation of
suction air joint)

450

[ 185
5

¢19H7( +8021 )
¢70H7( +8.030 )

Grounding terminal
(M4)

Coupling section

4-M6x1

14.5 (Note 1)

+-0.02)

?QDBQ +

126+/-0.02

H10H7 (*39"° ) Refer to section C cross-section

121.5 Effective stroke

(121)

140
120
11 90

14 (Note 1)

i
T
1
|
l
|
|

53]

o

8-M8x1.25 Depth 16
2-$6H7 (*§°"?) Depth 8
(2) Lb

35

(208) 2-M5x0.8 Depth 10

50__(79

z (2 places at same position on opposing sides)

Detail of section B

1 -1

130
20

\Motor installation block

.0 Depth 10 Qa-M8x1.25 Depth 16

Qcx200 Ld 60

11.5
49.,_3

>
o
26.5

60

10392 Depth 11.5

©|
~
o N

& ha ha hd hd

200

2-8HT (*4°'5

) Depth 10 100 Qdx200

recommended length under head of the hex socket head bolts

body with the mounting tap hole specifications is <<frame thickness + 15 mm or less>>.

10+/-0.02 Lc

Note 1. Stop positions are determined by the mechanical stoppers at both ends.
Note 2. The length under head of the hex socket head bolts <M8 x 1.25> used to mount the body with
the mounting countersunk holes (section C cross-section) must be <<25 mm or more>>. The

<M8 x 1.25> used to mount the
the seal, and then fix.

3| &
© 2
C cross-section Detail of section A

Countersunk hole for Qb-M8
Refer to section C cross-section (Note 3)

Note 3. When using the mounting countersunk holes (section C cross-section) to mount the body, remove

Effective stroke | 100 | 150 | 200 | 250 | 300 | 350 | 400

450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950

1000{1050{1100{1150(1200/1250{1300|1350{1400|1450

Lb 342.5[392.5/442.5/492.5/542.5592.5|642.5|

692.5|742.5|792.5|842.5/892.5/942.5/992.5| 1042.5|1092.5| 1142.5] 1192.5

242.5(1292.5|1342.5|1392.5| 1442.5| 1492.5 | 1542.5| 1592.5| 1642.5| 1692.5

100 | 150 200 | 250 | 300 | 350 | 400

4501500 | 550|600 |650| 700 | 750 | 800 | 850 | 900 | 950

000[1050/1100/1150{1200{1250/1300/1350/1400|1450

50 | 100|150 (200 50 | 100

1501200 | 50 [ 100|150 [200| 50 | 100 | 150 | 200 | 50

100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150

10 | 10 | 10 | 10 | 12 | 12

12 112 |14 |14 |14 |14 |16 | 16 | 16 | 16 | 18

18 | 18 | 18 | 20 | 20 | 20 | 20 | 22 | 22

6 6 6 6 8 8

8 8 |10 |10 |10 | 10 |12 | 12 | 12 | 12 | 14

14 [ 14 | 14 | 16 | 16 | 16 | 16 | 18 | 18 | 18

0100 0 1 1

1 1 2 2 2 2 3 3 3 3 4

4 4 4 5 5 5 5 6 6 6

1 1

1 1 2 2 | 2|2 3 3 3 3 4

4 4 4 5 5 5 5 6 6 6

[=]
T
—|o|o|s|xlo

0 0 0 0
Weight (kg) 11.7112.7]13.7/14.7|15.7|16.6| 17.6

18.6]/19.6/20.6121.5 23.5/24.5/25.5/26.5|27.428.4

29.4130.4(31.4(32.4/33.3/34.3/35.3/36.3|37.3

2400 2160[1920/1680

1440/1320(1200/1080 960 840 720

Maximum —

1200 1080| 960 | 840

720 | 660 | 600 | 540 480 420 360

spe,ed Load

0

600 540 | 480 | 420

360 | 330 | 300 | 270 240 210 180

Speed setting

— 90%180% [70%

60%155% [50%145%| 40% 35% 30%

\

145 N

25%
/

10}enjoe SiXe
8|buls ss8|-10}0 |\

~
[=)
=3
=)
=]
=
~<

SXO1




=~
[=)
=3
=)
=]
—-
~<

Motor-less Single Axis Actuator

Orderi

LGXS20 - -

ng method

IR - [T -
40: 40 mm 100 to 1450
120: 20 mm (50 mm pitch)

10: 10 mm
B Specifications

[Caution]

This system is provided as mechanical actuator unit and not including any adopters or electric components.
Motor, driver and other components required for installation are user’s responsibility.

Refer to user’'s manual for installation details. Refer to your motor manual for tuning or adjustment. Vibration
or resonance from actuator will affect service life of actuator.
The product performance may not be satisfied depending on the compatible motor.

H Allowable overhang N°t

M Static loading moment

Adaptable motor 750 W A
Repeatability Nt +/-0.005 mm
Deceleration Ground ball screw ¢ 20 B c
mechanism (C5 class) B Cc A c A
Stroke 100 mm to 1450 mm (50 mm pitch)
Maximum speed Note2 2400 1200 600 LGXS20-40 (Unit: N-m)
(or equivalent) mm/sec_| mm/sec | mm/seC  Horizontal installation _(unit:mm) Wall installation _ (unit: mm) Vertical installation (unit:mm)
Horizontal installation _unit;mm) Yertical installation (nit mm) [ MP | MR
Ball screw lead 40mm | 20mm | 10 mm A B A B A c 1423 | 1423 | 1251
= N 20kg| 5460| 2838| 2124 20kg| 2203| 2768| 5351 5kg| 8187| 8187
Maximum Horizontal| 65 kg 130 kg 160 kg
payload Netes - 40kg| 7494| 1781| 1626 40kg| 1690 1711| 7259 10kg| 5885| 5885 ™ Ad b| s M
(orequivalent)| Vertical| 15kg | 35kg | 65kg 65kg| 10253 1282] 1270 _ 65kg| 1276] 1212 9808 _ 15kg| 5971 5971 aptable Servo Motor
Rated thrust Nete3 n
(or equivalent) 320N | B40N | 1280N | Gxs2020 _ _ N specifcation /12102 5iZ [ 180
Maximum dimensions of Horizontal installation (unit:mm) ~ Wall installation  (unit: mm)  Vertical installation (Unit: mm) Wattage 750 W
cross section of main unit W 200 mm x H 140 mm A B A B C A c
Overall length ST +288.5 mm 50kg| 5451] 1497| 1381 _ 50kg| 1394 1426 5279 _ 20kg| 3443) 3443 _Manufacturer Model
T R 80kg| 4429 913| 856  80kg| 851 843 4165  30kg| 2603] 2603  Yasuk: SGMJV-08
Degree of cleanliness Mote4 ISO CLASS 3 (1S014644-1) g o : Ela:éjtriacw(?or [sGM7J-08
or equivalent 100kg| 4588| 755| 726 100kg| 707| 685 4249 35kg| 3174| 3174 P. |SGM7J-08
Intake air Note® 30 N£/min to 90 N&/min 130kg| 4351 597| 585 130kg| 551 526| 3945 SV-[1075
Using ambient 0'to 40 °C, 35 to 80 %RH Keyence Corp. 1o\ o o5
temperature and humidity (non-condensing) LGXS20-10 . . i - _
. I - Horizontal installation _(unitmm) ~ Wall installation __ (unit: mm)  Vertical installation (unit: mm) N HF-KP73
Note 1. Positioning repeatability in one direction. - T A B C A B C ~ T A [ ¢ Mitsubishi [HG-KR73 "
Note 2. When a moving distance is short and depending 40kg| 22572] 2615] 2722 _ 40kg| 2713 2545|22263 _ 20kg| 5173 5173  Electric Corp. ™ — =
on an operation condition, it may not reach the 30K HK-KT7M3
maximum speed. g| 16750, 1278 1336 80kg| 1297| 1208| 16175 40kg| 2561 2561 Note. T bi i
Note 3. The rated thrust and maximum transferable weight ~_ 120kg| 14083] 833| 871 120kg| 821] 763| 13243 _ 65kg| 1604] 1604 NOte- c?):\?é?sig]:awgaptes
are values assuming the attached motor outputs
the rated torque. g P 160kg| 12387 610/ 639 160kg| 582 540/ 11284 <GX-BEND-80>, the shim
Note 4. When using in a clean environment, attach a suction Note. Distance from center of slider top to center of gravity of object being carried at plate (t1) is necessary.
air joint. The degree of cleanliness is the cleanliness a guide service life of 10,000 km. Corversion
level achieved when using at 1000 mm/sec or less. N ice life i lcul f ki | Shim plat t
Note 5. The required suction amount will vary according ote. Service life is calculated for 600 mm stroke models. adapter product |nr:upmab2rpar
to the operating conditions and operating model
environment. GX-BEND-80 | KEX-M2295-00
Note. See P.640 for acceleration/deceleration and inertia
moment.
( N\
LGXS20
144.5 Effective stroke (144)
170
17 (Note 1
(Note 1) 140 16.5 (Note 1)
T
ﬁ KX 2 1 -} —l
g i il
=Y " i
85c e —— it
OF W |
BN i i 8
K] L I J 351 115
~ EYY L - ool ] A B
8-M8x1.25 Depth 16 Lo
2-96H7 (*§°*?) Depth 8 |
A =)= ).M6x1.0 Depth 6 Lb =13
2055_| 8| (Fornsialiation of (249) 2-M5x0.8 Depth 10 200
S| g=| (Forinstaliaion o 95 50 (99.5) (2 places at same position on opposing sides) 170
L5 | & suction air joint) - - p! p pposing F—T ] ]
55 o0 -~ o i | Detail of section B
O 555 200 - o I P i ——
T © > = i ~ ¥
o o
® ® S le | ° N
= i ‘
‘ Motor installation block —T : B
Coupling section 4-M6x1.0 Depth 10 144 25 Qox200 Qa-M8x1.25 De[rfh 16 ‘ 12?)?) ‘ 4 ©
Grounding terminal 955 200 Cx b 60,60 &
=
M4) ‘ - 20 5 §_
T 7 | z L,
N o ® ® o = <2
= os 2
I ®(L i ]
8
N D)
S ° S o | o -e- < &
2-$8H7 (*3°'%) Depth 10 o0 A / 3 5 2
+0.015 A )
$10H7 (*5°"°) Refer to section C cross-section 100 Qdx200 C cross-section Detail of section A
35+1-0.02 Le Countersunk hole for Qb-M8
Note 1. Stop positions are determined by the mechanical stoppers at both ends. Refer to section C cross-section (Note 3)
Note 2. The length under head of the hex socket head bolts <M8 x 1.25> used to mount the body with
the mounting countersunk holes (section C cross-section) must be <<25 mm or more>>. The
recommended length under head of the hex socket head bolts <M8 x 1.25> used to mount the Note 3. When using the mounting countersunk holes (section C cross-section) to mount the body, remove
body with the mounting tap hole specifications is <<frame thickness + 15 mm or less>>. the seal, and then fix.
Effective stroke | 100 [ 150 | 200 | 250 | 300 | 350 | 400 [ 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000(1050/1100[1150/1200]1250(1300[1350]1400(1450
Lb 388.5/438.5/488.5/538.5|588.5|638.5|688.5|738.5|788.5838.5888.5/938.5/988.5/1038.5/1088.5| 1138.5| 1188.5| 1238.5/1288.5| 1338.5| 1388.5| 1438.5| 1488.5|1538.5| 1588.5| 1638.5| 1688.5| 1738.5
Lc 00| 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000({1050]/1100{1150(1200/1250|1300|1350(1400|1450
Ld 50 | 100 | 150|200 | 50 | 100|150 |200| 50 [ 100|150 |200| 50 | 100 | 150|200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200
Qa 1010 [ 1010 [ 12 |12 |12 |12 |14 |14 |14 |14 | 16 | 16 | 16 | 16 | 18 | 18 | 18 | 18 | 20 | 20 | 20 | 20 | 22 | 22 | 22 | 22
Qb 4 6 6 6 6 8 8 8 8 1010|1010 [ 12 |12 |12 | 12 | 14 | 14 | 14 | 14 | 16 | 16 | 16 | 16 | 18 | 18 | 18
Qc 0 0 0 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
Qd 0 0 0 0 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6
Weight (kg) 17.2118.5]/19.8121.1]22.4123.7(25.0/26.3]27.6 |28.8|30.1]31.4/32.7|34.0/35.3]/36.6 | 37.9139.2140.4(41.7 |43.0|44.3145.6|46.9]48.2149.5|50.8 | 52.0
Maximum|_Lead 40 2400 2160/1920|1680(1440/1320/1200(1080 960 840 720 600
speed | =€ad 20 1200 1080] 960 | 840 | 720 | 660 | 600 | 540 480 420 360 300
| p’ .| Lead 10 600 540 | 480 | 420 | 360 | 330 | 300 | 270 240 210 180 150
\‘ Speed setting = 90% 180% | 70% [60% [55% |50% [45% 40% 35% 30% 25% )

B 146




External Sensor Installation Guide (Left side shown) Grease Gun Nozzle (Basic Model)

onity series

Item Specification Item Specification
Panasonic Industrial : Orange LED
Display |
Manufacturer | = SUNX, Co., Ltd. ISplay’ame | (9N when output ON)
Model GX-F8B amoiot -25 to +75 °C,
environment 35 to 85 %RH
Output method NPN type and humidity
Protection P68
Output action ON released structure
Power voltage DC12 to 24V Cable length sm
Load current 100 mA or less
Consumption 15 mA or less
current
Note 1. Installation is users’ responsibility

Note 2.
Note 3.
Note 4.

Mounting hardware included
Sensor cable is 5 m. Adjust as needed.
Sensor cable outlet can be either motor end or no motor end of actuator

[Caution]

« Bracket screw tightening torque: 0.5 N-m

« The detection surface of the sensor and sensor plate clearance is approx. 1 mm.

=
o9
= 3
@ 3
47
g0
D o
g3
e
5

~
[=)
=3
=)
=]
=
~<

=)
()

Proximity sensor
Sensor Bracket

)|®

)
)

Bracket screw
Bracket bolt
Bracket nut

Switch target
plate

Target plate bolt

CEIE:

S

Proximity sensor option (No. KFU-M2205-00)

uondo

Sensor cable:
Motor side removal example No. Name Number Qty Remarks
Sensor cable: @ |Proximity sensor KP6-M4855-01 1
Reverse motor side removal example @ |sensor Bracket KFU-M22FF-00 1
(3 |Bracket screw 90990-66J004 1 |[M3x0.5Length 8
. @ |Bracket bolt 91312-03005 2 |M3x0.5Length 5
o
RT (® |Bracket nut 95302-03700 2 |M3
Target plate option (No. KFT-M2206-00)
No. Name Number Qty Remarks
® |Switch target plate KFT-M22G5-00 1
7) |Target plate bolt 90112-02J005 2 |M2x0.4 Length 5
LBASO05 s N Proximity sensor option (No. KFU-M2205-00)
ensor cable:
Motor side removal example No. Name Number Qty Remarks
Sensor cable: (D |Proximity sensor KP6-M4855-01 1
Reverse motor side removal example @ |Sensor Bracket KFU-M22FF-00 1
T @ { @ |Bracket screw 90990-66J004 1 |M3x0.5Length 8
1]
§®7 T o | = @ |Bracket bolt 91312-03005 2 |M3x0.5Length 5
>l ~
gT T T 18 | 6 ® |Bracket nut 95302-03700 2 |M3
~ ~ 0) ©)
7 f Target plate option (No. KFU-M2206-00)
4 4.7
S (58.7) No. Name Number Qty Remarks
® |Switch target plate KFU-M22G5-00 1
@ |Target plate bolt 90112-2AJ005 2 |M2.5x 0.4 Length 5
LBASO08 Proximity sensor option (No. KFU-M2205-00)
Sensor cable: No. Name Number Qty Remarks
Motor side removal example — —
s ol @ |Proximity sensor KP6-M4855-01 1
ensor cable:
14 Reverse motor side removal example 2 |Sensor Bracket KFU-M22FF-00 1
(3 |Bracket screw 90990-66J004 1 |[M3x0.5Length 8
3@ ST 5 @ |Bracket bolt 91312-03005 2 |M3x0.5Length 5
§T 3 o E (® |Bracket nut 95302-03700 2 |M3
5 7/ Target plate option (No. KFV-M2206-00)
No. Name Number Qty Remarks
(® |Switch target plate KFV-M22G5-00 1
@ |Target plate bolt 91312-03005 2 |M3x0.5Length &5
B Grease Gun Nozzle (LBAS Model)
Specially designed for LBAS model for lubrication ® Nozzle tip
on ball screw and linear guide. 12
* It can be used by attaching to a commercially available A H
general grease gun. ﬁ‘ =1 —t % e Part number ‘KFU-M2941 -00
=t '\J
N
o
@ Lubrication Kit e 248 15 Ret/8

Grease nozzle and nozzle tip

Part number |KFU-M3861-00

® Grease nozzle

2-R1/8

L]

4
E=

105

150

Part number |KFU-M2942-00

147 N



External Sensor Installation Guide (Left side shown) (Advanced Model)

onity series

Item Specification Item Specification }
- - [Caution]
Manufacturer Panasonic Industrial Bl Er Orange LED
= Device SUNX, Co., Ltd. (ON when output ON) « Bracket screw tightening torque: 0.5 N-m
=) Model GX-F8B Al -25t0 +75 °C « The detection surface of the sensor and sensor plate clearance is approx. 1 mm.
=3 environment g
3 T 35 to 85 %RH
S Output method NPN type SNAIUMICILY
- Protection
< Output action ON released structure I
Power voltage DC12 to 24V Cable length 5m
Load current 100 mA or less
Consumption 15 mA or less 1) Proximity sensor
current s e e

Sensor Bracket
3) Bracket screw
Bracket bolt
5) Bracket nut

Switch target
plate

Target plate bolt

Note 1. Installation is users’ responsibility
Note 2. Mounting hardware included
Note 3. Sensor cable is 5 m. Adjust as needed.

XS10 Proximity sensor option (No. KEV-M2205-00)

J5 No. Name Number Qty Remarks
f @ |Proximity sensor KP6-M4855-01 1
T@ @**74@ ﬁ (2 |Sensor Bracket KEV-M22FF-00 1
| / (3 |Bracket screw 90990-66J004 1 |M3x0.5Length 8
o ©9 = @ |Bracket bolt 91312-05008 2 |M5x0.8Length 8
& \/ < ® |Bracket nut 95302-05700 2 M5
Target plate option (No. KEV-M2206-00)
L22 | No. Name Number Qty Remarks
® |Switch target plate KEV-M22G5-00 1
(@ |Target plate bolt 91312-05008 2 |M5x0.8 Length 8
Proximity sensor option (No. KEV-M2205-00)
J5 No. Name Number Qty Remarks
- - ﬁ 5 o (D |Proximity sensor KP6-M4855-01 1
1B e 5 ‘ o @ |Sensor Bracket KEV-M22FF-00 1
—i /‘ \ ® |Bracket screw 90990-66J004 1 |[M3x0.5Length8
- | oo g © © @ |Bracket bolt 91312-05008 2 |M5x0.8Length 8
e .[[ { = ® |Bracket nut 95302-05700 2 |M5
i @ @ Target plate option (No. KEV-M2206-00)
L22 | 125 (1375) No. Name Number Qty Remarks
- (® |Switch target plate KEV-M22G5-00 1
@ |Target plate bolt 91312-05008 2 |M5x0.8 Length 8
Proximity sensor option (No. KEX-M2205-00)
15 No. Name Number Qty Remarks
- @1 ® ﬁ]—, 3 — —nzg @ |Proximity sensor KP6-M4855-01 1
=aw © © (2 |Sensor Bracket KEX-M22FF-00 1
;,L / | (3 |Bracket screw 90990-66J004 1 |M3x0.5Length 8
. U = @ @ (@) |Bracket bolt 91312-05008 2 |M5x 0.8 Length 8
=3 == ( 2] (® |Bracket nut 95302-05700 2 |M5
\ | Target plate option (No. KEV-M2206-00)
122 | Q(_J (172‘5) No. Name Number Qty Remarks
; ® |Switch target plate KEV-M22G5-00 1
@ |Target plate bolt 91312-05008 2 |M5x0.8 Length 8
Proximity sensor option (No. KEY-M2205-00)
15 No. Name Number Qty Remarks
@ |Proximity sensor KP6-M4855-01 1
5 e 9 B @ |sensor Bracket KEY-M22FF-00 | 1
il il / ® |Bracket screw 90990-66J004 1 |M3x 0.5 Length 8
5 | g @ |Bracket bolt 91312-05008 2 |M5 x 0.8 Length 8
= 2R | = (® |Bracket nut 95302-05700 2 |M5
| Target plate option (No. KEV-M2206-00)
122 No Name Number Qty Remarks
(® |Switch target plate KEV-M22G5-00 1
@ |Target plate bolt 91312-05008 2 |M5x 0.8 Length 8

B 148



Reference guide for right angle motor mount (right side shown) Advanced Model

Robonity series

(Shim plate: t1) " 30H7 (*§%') Depth 4

62 <PartNo KESM2os0p> Lo (0 )Dep 525
= Grounding terminal (M4) 4-M4x0.7 Depth 8 43
3 Motor attachment surface &

—= Molor altachment suriace &

| | [
2 2l oo
- 6 ¢ © <

o |
T -
o o
30
105

Note. For the availability of shim plate, see the adaptable servo motor table (P.140).

(Shim plate: t1) N

62 <Part No. KES-M2295-00> $30H7 (“§%") Depth 4 325

2 Grounding terminal (4) 4-M4x0.7 Deptn 8 43

.—[: &t] Motor attachment surface i’

| | [\
3 @] oo
- [ R) j ©_o© ©
o | | B N -
o o o o

120

Note. For the availability of shim plate, see the adaptable servo motor table (P.141).

(Shim plate: t1) N

+0.025
79 <PartNo KEVAM2205.00> 07 (0 )Depind

Grounding terminal (M4) 4M5<0.8 Depth 10 | .37
g Motor attachment surface
w© ——
3

45

Note. For the availability of shim plate, see the adaptable servo motor table (P.144).

LGXS07
(Shim plate: t1) N

62 <Part No. KES-M2295-00>
Grounding terminal (M4)

$30H7 (*392') Depth 4
4-M4x0.7 Depth 8

E Motor attachment surface

[
o
i
o
o

(61.5)

119

143

Note. For the availability of shim plate, see the adaptable servo motor table (P.142).

LGXS10
(Shim plate: t1) N

79 <Part No. KEV-M2295-00>
Grounding terminal (M4)

$50H7 (*3"°) Depth 4
4-M5x0.8 Depth 10 345

-

g Motor attachment surface & 646
] Q
Q e §Q(,9’1
& ! IR e
| 20

Note. For the availability of shim plate, see the adaptable servo motor table (P.143).

Note 1. Use by attaching the conversion adapter to the main unit. Refer to the manual
for the attachment method.

Note 2. A motor is not included in the conversion adapter. Remove a motor from the
main unit, and install the conversion adapter.

Note 3. Right installation and left installation are possible.

(Shim plate: t1) Nete

$7O0H7 (*§°%) Depth 4
96 <Part No. KEX-M2295-00>

- - 4-M6x1.0 Depth 12 48
Grounding terminal (M4)
< — 85.3
=~ Motor attachment surface &
— A
RN
‘ 5%
- 5% = ~ =t
S T o
1. e _ -
[
X} X1 9
52
173.5

Note. For the availability of shim plate, see the adaptable servo motor table (P.145).

(Shim plate: t1) N

70H7 (*§°°) Depth 4
o <PartNo.KEXM2205.00> 2707 (o) Dep 57

S Grounding erminal (w4)  FUEx100ep 12 853
Motor attachment surface

o0 & X} E":\
= ‘ b
z ‘ =

|
| °
o9 CX3 I
52
196.5

Note. For the availability of shim plate, see the adaptable servo motor table (P.146).

Model Product model Part No. Weight
LGXS05, LGXS05L, LGXS07 GX-BEND-40 KES-M221M-00 0.4 kg
LGXS10, LGXS12 GX-BEND-60 KEV-M221M-00 1.2 kg
LGXS16, LGXS20 GX-BEND-80 KEX-M221M-00 2.7 kg

=
o9
= 3
@ 3
82
g
D o
g3
e
5

~
[=)
=3
=)
=]
=
~<

uondo

149 N






